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BEEK 4 8,000 BakEkl 4 11,000 14,000
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i} M 3 23,115 | * 15,000 ] M 3 18,140 16,000 17,000 18,000
BEEK 3 7,500 HEKER| 3 11,000 14,000
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B GRE K - 15,000 TGk K - (HIRR) (HIRR)
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R GRE K - 16,500 BGRE K - (HIRR) (HIRR)
WA — i - wERoEEsl JERME | —i% | 0.75 1,971 1,900 1,900 1,900
R GRE K - ERHOIHIRY e K| 0.75 1,300 1,600
A (ERW) | R | ik 3 10,051 | = 7,600 PR — 3 7,884 7,600 7,700 7,800
BwEEE 3 3,800 K 3 5,100 6,400
F4 — i 4 24,124 | * 18,000 Tt — % 4 18,931 18,000 18,000 18,000
BEEE 4 9,000 wEEE 4 12,000 15,000
" | 3 24,120 | * 18,000 el —i 3 18,928 18,000 18,000 18,000
BwEEE 3 9,000 wEkEE| 3 12,000 15,000
4 H — % - 52,465 | * 39,000 4 H — i - 39,420 (HIBR) (HIBR) (HIBR)
AR GRE K - 19,500 ARG (K - (HIRR) (HIRR)
WERRE | — A% - wERoEEsl JERMAE | —i% | 0.75 1,971 1,900 1,900 1,900
AR GRE K - EAHOIFNEY ek K| 0.75 1,300 1,600
HURRE Rl | 3 1,876 | * 1,400 PR — % 3 1,809 1,500 1,600 1,800
BwEEE 3 700 K 3 1,000 1,400
EE —i 4 2,502 2,500 | FEOROFED|] —f% 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 wEkEE 2 800 1,000
w’H | 3 1,876 1,800 el —i 2 1,206 1,200 1,200 1,200
wEEE 3 900 BwEEE 2 1,000 1,100
R —i - wasossms] REME | —& | 0.75 452 400 400 400
AR GRE K - EAHOIRNEY AR E| 0.75 200 300
oM Rl ik 3 1,876 | * 1,400 il —i 3 1,809 1,500 1,600 1,800
BwEEE 3 700 HwEEE 3 1,000 1,400
T | ik 4 2,502 2,500 | FRORUF#D| —i 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 BwEEE 2 800 1,000
®H | K 3 1,876 1,800 il —i 2 1,206 1,200 1,200 1,200
BwEEE 3 900 BwEEE 2 1,000 1,100
WERRE | R - wRsossEs] JERMAE | —i% | o. 452 400 400 400
AR GRE K - EAHOIRNEY AR 0.75 200 300
B Rl ik 3 1,173 | * 900 il —i 3 1,131 900 1,000 1,100
BwEEE 3 450 HwEEE| 3 600 800
T | ik 4 1,564 1,500 | FORUFR| —fik 2 754 700 700 700
BEEE 4 750 BwEEK| 2 400 500
&IH 3 1,173 1,100 &I — 2 754 700 700 700
3 550 BwEREE 2 600 600
I ] - mAsossEs] ERMEMAE | K | 0.75 282 200 200 200
- AR DIENE L AEREE 0. 100 100
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BOAT % E
5 L S ERiil M 3 1,642 | * 1,200 BRI M 3 1,583 1,300 1,400 1,500
BEEK 3 600 HEKER| 3 900 1,200
P M 4 2,189 2,100 | FOROFEE| % 2 1,055 1,000 1,000 1,000
BEEEK 4 1,050 HEKER| 2 600 800
i} M 3 1,642 1,600 ] M 2 1,055 1,000 1,000 1,000
BEEK 3 800 HEKER| 2 800 900
RS A% - wRsnEmes|  AEE R % | 0. 395 300 300 300
B GRE K - ERHOIHIEY HERER| 0.75 200 200
KE PR | R 3 234 | % 200 BRI — % 3 226 200 200 200
BEEK 3 100 HERER| 3 100 100
EE? —f 4 312 300 | FEOROFERD| —fi% 2 150 100 100 100
BEEK 4 150 HERER| 2 100 100
wH | 3 234 200 I —% 2 150 100 100 100
BEEK 3 100 HERER| 2 100 100
W — % - wRrosaas| ERER | ik 56 100 100 100
B GRE K - ERHOIIIEY HERER| 0.75 100 100
R A E= FEE | R 3 2,815 | * 2,200 BRI — 3 2,714 2,200 2,200 2,200 |#5x X
BEEK 3 1,100 HERER| 3 1,400 1,800
EEC —f 4 3,753 3,700 | FEOROFED| —fiF 2 1,809 1,800 1,800 1,800
BEEK 4 1,850 HERER| 2 1,200 1,500
wH | 3 2,815 2,800 I —% 2 1,809 1,800 1,800 1,800
BwEER 3 1,400 HERER| 2 1,500 1,600
WERAE | — A% - ERsoEEs] JERME | —i% | 0.75 678 600 600 600
R GRE K - ERHOIHIRY e 0.75 400 500
P PR | R 3 2,815 | * 2,200 PR —fix 3 2,714 2,200 2,200 2,200 |57 fEx
BwEEE 3 1,100 MKl 3 1,400 1,800
Tk | —ik 4 3,753 3,700 | FOROFHE| —f% 2 1,809 1,800 1,800 1,800
BEEK 4 1,850 wEEE 2 1,200 1,500
wIH | i 3 2,815 2,800 &I —f% 2 1,809 1,800 1,800 1,800
BwEEK 3 1,400 wEEE 2 1,500 1,600
WERRE | — A% - wERsoEEs] JERME | —i% | 0.75 678 600 600 600
R GRE K - ERHOIHIRY e K| 0.75 400 500
PAEHIRK R o — | B 1 HE SR PR R 3 3,284 | * 2,500 BRI —fix 3 3,166 2,700 2,900 3,100
BwEEK 3 1,250 MKl 3 1,800 2,400
T | R 4 4,379 4300 | FEOROFEE| —f% 2 2,111 2,100 2,100 2,100
BEEK 4 2,150 wEEE 2 1,400 1,700
w | 3 3,284 3,200 il —i 2 2,111 2,100 2,100 2,100
BwEEE 3 1,600 wEEE 2 1,700 1,900
RERAEE | — i - wERsosEs] JERMAE | —i% | o. 791 700 700 700
AR GRE K - A DIFNEY BGREE] 0. 400 500
H2ERE BRI 3 3 2,346 | * 1,800 PR — % 3 2,262 1,900 2,000 2,200
BwEEE 3 900 wEkEE| 3 1,300 1,700
T | ik 4 3,128 3100 | FOROFHE| —f% 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 wEkEE 2 1,000 1,200
w’H | 3 2,346 2,300 il —i 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 wEEE 2 1,200 1,300
ERIRE | — - wRoEEsl JERMAE | —M#% | 0.75 565 500 500 500
AR GRE K - A DIFNEY ek K| 0.75 300 400
IR ERIR) | PR | AR 3 2,463 | * 1,900 ERil] —fix 3 2,375 2,000 2,100 2,300
BwEEE 3 950 wEkEE| 3 1,400 1,800
Tk | i 4 3,284 3,200 | FEOROFHD| —f% 2 1,583 1,500 1,500 1,500
BEEE 4 1,600 BwEEE 2 1,000 1,200
®H | K 3 2,463 2,400 il —i 2 1,583 1,500 1,500 1,500
wEEE 3 1,200 BwEEE 2 1,300 1,400
R —i - wRsossEs] JERMAE | —i% | o. 593 500 500 500
AR GRE K - EFHOIRNEY BEREE| 0.75 300 400
At Rl ik 3 1,876 | * 1,400 il —i 3 1,809 1,500 1,600 1,800
BwEEE 3 700 BwEEE 3 1,000 1,400
T | ik 4 2,502 2500 | FRORUF#D| —i% 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 BwEEE 2 800 1,000
®H | K 3 1,876 1,800 il —i 2 1,206 1,200 1,200 1,200
wEEE 3 900 BwEEE 2 1,000 1,100
WERRE | R - wRsossEs] JERMAE | —i% | o. 452 400 400 400
AR GRE K - EAHOIRNEY AR E| 0.75 200 300
HSRAE R R 3 1,876 | * 1,400 il —i 3 1,809 1,500 1,600 1,800
BwEEE 3 700 kK| 3 1,000 1,400
4% 4 2,502 2,500 | FEOROTFED|] A 2 1,206 1,200 1,200 1,200
4 1,250 BwEREE 2 800 1,000
&IH 3 1,876 1,800 &I — 2 1,206 1,200 1,200 1,200
3 900 BwEREE 2 1,000 1,100
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S A 5

BOAT [
BRI R 5 — | SR WEE i - wAsoEas] LR R i |0.75 452 400 400 400
HEkE - ERAEOIEIEY EkE | 0.75 200 300
HOERE ERiil M 3 1,642 | * 1,200 BRI M 3 1,583 1,300 1,400 1,500
BEEK 3 600 HEKER| 3 900 1,200
P M 4 2,189 2,100 | FEOROFED| % 2 1,055 1,000 1,000 1,000
BEEKl 4 1,050 HEKER| 2 600 800
e} M 3 1,642 1,600 e} M 2 1,055 1,000 1,000 1,000
BEEK 3 800 HERER| 2 800 900
W — % - wRsosaay| ERER | ik 395 300 300 300
B GRE K - ERHOIHIEY HERER| 0.75 200 200
HTHERE PR | 3 703 | * 500 BRI — % 3 678 500 500 600
BEEK 3 250 HERER| 3 300 400
EE? —f 4 938 900 | FEOEROFHD| —fi% 2 452 400 400 400
BEEK 4 450 HERER| 2 200 300
wH | % 3 703 700 i} —% 2 452 400 400 400
BEEK 3 350 HERER| 2 300 300
WEE % - wRsosaas| ERER | ik 5 169 100 100 100
B GRE K - ERHOIHIEY HERER| 0. 100 100
EAAVIES PR | R 3 2,346 | * 1,800 BRI — % 3 2,262 1,900 2,000 2,200
BEEK 3 900 HERER| 3 1,300 1,700
EE? —f 4 3,128 3,100 | FEOROFHD| —fi% 2 1,508 1,500 1,500 1,500
BEEK 4 1,550 HERER| 2 1,000 1,200
®wH | & 3 2,346 2,300 &I —f% 2 1,508 1,500 1,500 1,500
BwEEK 3 1,150 wEEK 2 1,200 1,300
WA | — A% - wERoEEs] JERME | —i% | 0.75 565 500 500 500
R GRE K - ERHOIHIRY e K| 0.75 300 400
Hofn= PR R 3 L173 | * 900 BRI —fix 3 1,131 900 1,000 1,100
BwEEK 3 450 MKl 3 600 800
4 — 4 1,564 1,500 | FOROF#HD|  —fi% 2 754 700 700 700
BEEK 4 750 wEEE 2 400 500
w’H | 3 1,173 1,100 &I —f% 2 754 700 700 700
BwEEK 3 550 wEEE 2 600 600
WERAE | — A% - wERoEEs] JERME | —i% | 0.75 282 200 200 200
R GRE K - ERHOIHIRY e K| 0.75 100 100
H3FnE (=) PR R 3 469 | * 400 PR — 3 452 400 400 400
BwEEE 3 200 MKl 3 200 300
F4 —i 4 625 600 | FORUF#D| —fik 2 301 300 300 300
BEEE 4 300 wEEE 2 200 200
w’H | 3 469 400 el —i 2 301 300 300 300
BwEEE 3 200 wEkEE 2 200 200
ERIRE | — - wERsoEEsl JERMAE | —i#% | 0.75 113 100 100 100
AR GRE K - A OIFNEY ek K| 0.75 100 100
FAFI=E Rl | ik 3 1,876 | * 1,400 ERil] —fix 3 1,809 1,500 1,600 1,800
BwEEE 3 700 wEkEE| 3 1,000 1,400
k| i 4 2,502 2,500 | FEOROFEE|] —f% 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 wEEE 2 800 1,000
w | 3 1,876 1,800 el —i 2 1,206 1,200 1,200 1,200
BwEEE 3 900 wEEE 2 1,000 1,100
RERAEE | — i - wERsosEs] JERMAE | —i% | o. 452 400 400 400
AR GRE K - A OIFNEY ek K| 0.75 200 300
KE FaT | ik 3 234 | * 200 ERil] —fix 3 226 200 200 200
wEEE 3 100 HwEEE| 3 100 100
T | ik 4 312 300 | FRORVFHD| —i% 2 150 100 100 100
BEEE 4 150 BwEEE 2 100 100
®H | K 3 234 200 il —i 2 150 100 100 100
BwEEE 3 100 BwEEE 2 100 100
R —i - wanossEs] EREME | —& |o. 56 100 100 100
AR GRE K - EAHOIRNEY AR E| 0.75 100 100
TR (LEWEA) | el | i 3 3,284 | * 2,500 il —i 3 3,166 2,700 2,900 3,100
BwEEE 3 1,250 HwEEE| 3 1,800 2,400
T | ik 4 4,379 4300 | FRORUF#D| —i 2 2,111 2,100 2,100 2,100
BEEE 4 2,150 BwEEE 2 1,400 1,700
®H | K 3 3,284 3,200 il —i 2 2,111 2,100 2,100 2,100
BwEEE 3 1,600 BwEEE 2 1,700 1,900
R —i - wRsossms] REME | —#& | 0.75 791 700 700 700
AR GRE K - R OIFNEL BeREIE| 0.75 400 500
THEEEERMEM) |l 3 1,642 | * 1,200 i i 3 1,583 1,300 1,400 1,500
3 600 BwEEE 3 900 1,200
4% 4 2,189 2,100 | FEOROTFED|] A% 2 1,055 1,000 1,000 1,000
4 1,050 BwEREE 2 600 800
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S A 5

BOAT % E
MR R — | T 255 (R | &R M 3 1,642 1,600 ] M 2 1,055 1,000 1,000 1,000
BEEKl 3 800 HEEER 2 800 900
mEEE | A% - wRsnmes| AEE R % | 0. 395 300 300 300
HEkE - ERAHOIEIEY HERE 4] 0.75 200 200
BHERsE QOALL TR | AT M 3 4,599 | * 3,700 R M 3 4,435 3,900 4,100 4,400
BEEKl 3 1,850 HEEE 3 2,700 3,500
P M 4 6,132 6,100 | FOROFERD| % 2 2,956 2,900 2,900 2,900
BEEK 4 3,050 HERER| 2 1,900 2,400
wH | % 3 4,599 4,500 I —% 2 2,956 2,900 2,900 2,900
BEEK 3 2,250 HERER| 2 2,400 2,600
W — % - wRrossmas| ERMEME | & | 0.75 1,108 1,100 1,100 1,100
B GRE K - ERHOIHIEY HEREK| 0. 700 900
FrERsE QUARLLEET) | PR | iR 3 6,568 | * 5,200 R —fix 3 6,333 5,500 5,900 6,300
BEEK 3 2,600 HERER| 3 3,800 5,000
EE? —f 4 8,758 8,700 | FEDRUFHD| —fi% 2 4,222 4,200 4,200 4,200
BEEK 4 4,350 HERER| 2 2,800 3,500
wH | 3 6,568 6,500 I —% 2 4,222 4,200 4,200 4,200
BEEK 3 3,250 HERER| 2 3,500 3,800
WEE % - wRuosaas| ERMEME | & | 0.75 1,583 1,500 1,500 1,500
B GRE K - ERHOIHIEY HEREK| 0. 1,000 1,200
SRR (B | AT | % 3 2,956 2,900
BEEK 3 1,450
T | R 4 3,942 3,900
BEEK 4 1,950
®wH | k& 3 2,956 2,900 TR2741 81 AL
BwEEE 3 1,450
HEE S| — % - AR O3EEY
HRERER - HERAHOIEAEY
BRE(RRMEM) | 2R | 10 6,336 6,300
BEEE 10 3,150
TR PR R 1 1,876 | * 1,400 PR — 1 1,809 1,500 1,600 1,800
BEEK 1 700 wEEEl 1 1,000 1,400
i — i 1 1,876 1,800 ERT: —fix 1 1,809 1,800 1,800 1,800
BEEK 1 900 wEEEl 1 1,200 1,500
®wH | k& 1 1,876 1,800 &I —f% 1 1,809 1,800 1,800 1,800
BEEK 1 900 wEEEl 1 1,200 1,500
v = SR 3 1 156 100 ERil] —fix 1 150 100 100 100
Tk W 1 156 100 Fik % 1 150 100 100 100
w’H | 1 156 100 Ll —i 1 150 100 100 100
FErAaHoE | TRl W 1 156 100 ERill % 1 150 100 100 100
Fte | ik 1 156 100 P —fix 1 150 100 100 100
il W 1 156 100 il % 1 150 100 100 100
RHE (R | P | R 1 74T | % 500 ZF Rl —i 1 719 500 600 700
BwEEE 1 250 wEEE 1 400 500
F4 — i 1 747 700 Tt —fix 1 719 700 700 700
BwEEE 1 350 wEEE 1 400 500
w | 1 747 700 el —i 1 719 700 700 700
BwEEE 1 350 wEEE 1 400 500
REECEREM) | PRl | iR 1 373 300 ERil] —fix 1 359 300 300 400
BwEEE 1 150 wEEE 1 200 300
F4 — i 1 373 300 4 —fix 1 359 400 400 400
BEEE 1 150 BwEEE 1 200 300
®H | K 1 373 300 il —i 1 359 400 400 400
BEEE 1 150 BwEEE 1 200 300
I R s — | 45 1 4R R Rl ik 3 4,222 4,200 Gl —i 3 4,071 4,000 4,000 4,000
BwEEE 3 2,100 HwEEE 3 2,700 3,300
T | ik 4 5,630 5600 | FERORUF#D| —i% 2 2,714 2,700 2,700 2,700
BEEE 4 2,800 BwEEE 2 1,800 2,200
®H | K 3 4,222 4,200 il —i 2 2,714 2,700 2,700 2,700
BwEEE 3 2,100 BwEEE 2 2,300 2,500
BEEE | - wmaossEs] EREME | —& |o. 1,017 1,000 1,000 1,000
AR GRE K - EAHOIRNEY AR 0.75 700 800
oM Rl ik 3 4,222 4,200 Gl —i 3 4,071 4,000 4,000 4,000
BwEEE 3 2,100 HwEEE| 3 2,700 3,300
T | ik 4 5,630 5600 | FERORUF#D| —i 2 2,714 2,700 2,700 2,700
BEEE 4 2,800 BwEEK| 2 1,800 2,200
&IH 3 4,222 4,200 &I — 2 2,714 2,700 2,700 2,700
3 2,100 BwEREE 2 2,300 2,500
I ] - mAsossEs] ERMEMAE | K | 0.75 1,017 1,000 1,000 1,000
- AR DIENE L AEREE 0. 700 800
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S A 5

BOAT [
R s — | B BHE N ERiil M 3 2,346 2,300 BRI M 3 2,262 2,200 2,200 2,200
BEEK 3 1,150 HEKER| 3 1,500 1,800
P M 4 3,128 3,100 | FOROFRE| % 2 1,508 1,500 1,500 1,500
BEEK 4 1,550 HEKER| 2 1,000 1,200
i} M 3 2,346 2,300 ] M 2 1,508 1,500 1,500 1,500
BEEK 3 1,150 HEKER| 2 1,200 1,300
WEE i - wRsosEiay| 5 R x| 0. 565 500 500 500
B GRE K - ERHOIHIEY HERER| 0.75 300 400
FAERE PR | 3 2,346 2,300 BRI — % 3 2,262 2,200 2,200 2,200
BEEK 3 1,150 HERER| 3 1,500 1,800
EE? —f 4 3,128 3,100 | FEOROFHD| —fiE 2 1,508 1,500 1,500 1,500
BEEK 4 1,550 HERER| 2 1,000 1,200
wiH | k& 3 2,346 2,300 B —f& 2 1,508 1,500 1,500 1,500
BEEK 3 1,150 HERER| 2 1,200 1,300
W — % - wRrosaas| ERER | ik 565 500 500 500
B GRE K - ERHOIIIEY HERER| 0.75 300 400
FSHERE PR | 3 2,346 2,300 BRI — 3 2,262 2,200 2,200 2,200
BEEK 3 1,150 HERER| 3 1,500 1,800
EEC —f 4 3,128 3,100 | FEOROFHD| —fiE 2 1,508 1,500 1,500 1,500
BEEK 4 1,550 HERER| 2 1,000 1,200
wH | k& 3 2,346 2,300 B — % 2 1,508 1,500 1,500 1,500
BEEK 3 1,150 HERER| 2 1,200 1,300
WERAE | — A% - ERsoEEs] JERME | —i% | 0.75 565 500 500 500
R GRE K - ERHOIHIRY e 0.75 300 400
ORI | PR | AR 3 2,111 2,100 BRI —fix 3 2,035 2,000 2,000 2,000
BwEEE 3 1,050 MKl 3 1,300 1,600
Tk | —ik 4 2,815 2,800 | FEOROFHRD| —f% 2 1,357 1,300 1,300 1,300
BEEK 4 1,400 wEEE 2 900 1,100
®wH | & 3 2,111 2,100 &I —f% 2 1,357 1,300 1,300 1,300
BwEEK 3 1,050 wEEE 2 1,100 1,200
WERRE | — A% - wERsoEEs] JERME | —i% | 0.75 508 500 500 500
R GRE K - ERHOIHIRY e K| 0.75 300 400
HTHESE PR R 3 2,815 2,800 BRI —fix 3 2,714 2,700 2,700 2,700
BwEEK 3 1,400 MKl 3 1,800 2,200
4 — 4 3,753 3,700 | FOROFHE| —f% 2 1,809 1,800 1,800 1,800
BEEK 4 1,850 wEEE 2 1,200 1,500
w | 3 2,815 2,800 il —i 2 1,809 1,800 1,800 1,800
BwEEE 3 1,400 wEEE 2 1,500 1,600
RERAEE | — i - wERsosEs] JERMAE | —i% | o. 678 600 600 600
AR GRE K - A DIFNEY BGREE] 0. 400 500
HRERE BRI 3 3 3,284 3,200 ERil] —fix 3 3,166 3,100 3,100 3,100
BwEEE 3 1,600 wEkEE| 3 2,100 2,600
EE —i 4 4,379 4300 | FEOROFEE|] —f% 2 2,111 2,100 2,100 2,100
BEEE 4 2,150 wEkEE 2 1,400 1,700
w’H | 3 3,284 3,200 il —i 2 2,111 2,100 2,100 2,100
BwEEE 3 1,600 wEEE 2 1,700 1,900
ERIRE | — - wRoEEsl JERMAE | —M#% | 0.75 791 700 700 700
AR GRE K - A DIFNEY ek K| 0.75 500 600
HOERE BRI 3 3 4,692 4,600 ERil] —fix 3 4,524 4,500 4,500 4,500
BwEEE 3 2,300 wEkEE| 3 3,000 3,700
Tk | i 4 6,256 6,200 | FEOROFHD| —f% 2 3,016 3,000 3,000 3,000
BEEE 4 3,100 BwEEE 2 2,000 2,500
®H | K 3 4,692 4,600 il —i 2 3,016 3,000 3,000 3,000
wEEE 3 2,300 BwEEE 2 2,500 2,700
R —i - wanossEs] REME | —& |o. 1,131 1,100 1,100 1,100
AR GRE K - EFHOIRNEY BEREE| 0.75 800 900
F1FnE (k=) Rl ik 3 1,642 1,600 i — % 3 1,583 1,500 1,500 1,500
BwEEE 3 800 BwEEE 3 1,000 1,200
T | ik 4 2,189 2,100 | FROROF#D| —i% 2 1,055 1,000 1,000 1,000
BEEE 4 1,050 BwEEE 2 600 800
®H | K 3 1,642 1,600 il —i 2 1,055 1,000 1,000 1,000
wEEE 3 800 BwEEE 2 800 900
mEEE| —i - wanossEs] REME | —& |o. 395 300 300 300
AR GRE K - EAHOIRNEY AR E| 0.75 200 200
H2fnE Rl ik 3 2,346 2,300 i — % 3 2,262 2,200 2,200 2,200
BwEEE 3 1,150 kK| 3 1,500 1,800
4% 4 3,128 3100 | FOROFED|] A% 2 1,508 1,500 1,500 1,500
4 1,550 BwEREE 2 1,000 1,200
&IH 3 2,346 2,300 &I — 2 1,508 1,500 1,500 1,500
3 1,150 BwEREE 2 1,200 1,300
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S A 5

BOAT % E
AR R 4 — | 5 2 F NS I i 3 i - fid::ES Tk FE T B g P s % 1 0.75 565 500 500 500
A GRE - ERHOIHIEY BRI 0.75 300 400
Kz ERiil M 3 469 400 ERf M 3 452 400 400 400
BEEK 3 200 HEEER 3 200 300
R0 M 4 625 600 | FEORUFH#D| —f% 2 301 300 300 300
BEEK 4 300 HEREIER 2 200 200
e} M 3 469 400 e} M 2 301 300 300 300
BEEK 3 200 HERER| 2 200 200
W — % - wRsosaay| ERER | ik 113 100 100 100
B GRE K - ERHOIHIEY HERER| 0.75 100 100
AUFESE ARG | ZFal | — iR 3 3,753 3,700 PR — % 3 3,619 3,600 3,600 3,600
BEEK 3 1,850 HERER| 3 2,400 3,000
EE? —f 4 5,004 5,000 | FEOROFED| —fiE 2 2,412 2,400 2,400 2,400
BEEK 4 2,500 HERER| 2 1,600 2,000
wH | % 3 3,753 3,700 i} —% 2 2,412 2,400 2,400 2,400
BEEK 3 1,850 HERER| 2 2,000 2,200
WEE % - wRsosaas| ERER | ik 5 904 900 900 900
B GRE K - ERHOIHIEY HERER| 0. 600 700
AR GREM) | Fal | 3 1,876 1,800 PR — % 3 1,809 1,800 1,800 1,800
BEEK 3 900 HERER| 3 1,200 1,500
EE? —f 4 2,502 2,500 | FEOROFED| —fiF 2 1,206 1,200 1,200 1,200
BEEK 4 1,250 HERER| 2 800 1,000
®wH | & 3 1,876 1,800 &I —f% 2 1,206 1,200 1,200 1,200
BwEEK 3 900 wEEK 2 1,000 1,100
R — - wRsosEas| ERMEME | ik | 0.75 452 400 400 400
R GRE K - ERHOIHIRY e K| 0.75 300 300
BEEASALL TR | AT | A 3 3,942 3,900 BRI —fix 3 3,801 3,800 3,800 3,800
BwEEK 3 1,950 MKl 3 2,500 3,100
4 — 4 5,256 5200 | FEOROFERD| —f% 2 2,534 2,500 2,500 2,500
BEEK 4 2,600 wEEE 2 1,700 2,100
®wH | & 3 3,942 3,900 &I —f% 2 2,534 2,500 2,500 2,500
BwEEK 3 1,950 wEEE 2 2,100 2,300
WERAE | — A% - wERoEEs] JERME | —i% | 0.75 950 900 900 900
R GRE K - ERHOIHIRY e K| 0.75 600 700
BEE Q6 ALL L) | AT | A 3 5,630 5,600 BRI —fix 3 5,428 5,400 5,400 5,400
BwEEE 3 2,800 MKl 3 3,600 4,500
EE —i 4 7,507 7,500 | FEOROFEE|] —f% 2 3,619 3,600 3,600 3,600
BEEE 4 3,750 wEEE 2 2,400 3,000
w’H | 3 5,630 5,600 el —i 2 3,619 3,600 3,600 3,600
BwEEE 3 2,800 wEkEE 2 3,000 3,300
ERIRE | — - wERoEEsl JERMAE | —i% | 0.75 1,357 1,300 1,300 1,300
AR GRE K - A OIFNEY ek K| 0.75 900 1,100
REECGERMM) | Fall | —R 3 13,192 13,000 ERil] — % 3 10,357 10,000 10,000 10,000
BwEEE 3 6,500 wEkEE| 3 7,600 8,800
EE — % 4 26,384 26,000 | FEORUFHD|  —fik 2 10,357 10,000 10,000 10,000
BEEE 4 13,000 wEEE 2 7,600 8,800
we | 3 26,384 26,000 el —i 2 13,809 13,000 13,000 13,000
BwEEE 3 13,000 wEEE 2 13,000 13,000
ERIRE | — - wERsoEEs] JERMAE | —i% | 0.75 2,589 2,500 2,500 2,500
AR GRE K - A OIFNEY ek K| 0.75 2,100 2,300
TAHE — i 1 2,111 2,100 —i 1 2,035 2,000 2,000 2,000
BEEE 1 1,050 BwEEE 1 1,300 1,600
SV — % 1 312 300 —f 1 301 300 300 300
BAANT R W 1 312 300 W 1 301 300 300 300
REE (2miH) — i 1 1,446 1,400 — % 1 1,438 1,400 1,400 1,400
BEEE 1 700 BwEEE 1 900 1,100
KRB CREEH) — i 1 723 700 — % 1 719 700 700 700
BEEE 1 350 BwEEE 1 500 600
R (1,7 3t — i 1 4717 400 — % 1 474 500 500 500
BEEE 1 200 BwEEE 1 300 400
R (1, 4t — i 1 300 — % 1 359 400 400 400
BEEE 1 150 BwEEE 1 300 300
PRI Rt 5 — | 5 3R AR Rl ik 3 2,500 Gl —i 3 3,166 2,700 2,900 3,100
BwEEE 3 1,250 HwEEE| 3 1,800 2,400
T | ik 4 4,379 4300 | FRORUF#D| —i 2 2,111 2,100 2,100 2,100
BEEE 4 2,150 BwEEK| 2 1,400 1,700
&IH 3 3,284 3,200 &I — 2 2,111 2,100 2,100 2,100
3 1,600 BwEREE 2 1,700 1,900
I ] - mAsossEs] ERMEMAE | K | 0.75 791 700 700 700
- AR DIENE L AEREE 0. 400 500
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BOAT % E
PEARMR I Rt — | B AR S S BRI M 3 3,284 | * 2,500 BRI M 3 3,166 2,700 2,900 3,100
BEEK 3 1,250 HEKER| 3 1,800 2,400
P M 4 4,379 4,300 | FEOROFERE| % 2 2,111 2,100 2,100 2,100
BEEK 4 2,150 HEKER| 2 1,400 1,700
i} M 3 3,284 3,200 ] M 2 2,111 2,100 2,100 2,100
BEEKl 3 1,600 HEKER| 2 1,700 1,900
WEE i - wRsosEiay| 5 R x| 0. 791 700 700 700
B GRE K - ERHOIHIEY HEKEK| 0.75 400 500
ETHESEREENE) | PR | 3 3,167 | * 2,500 BRI — % 3 3,053 2,600 2,800 3,000
BEEK 3 1,250 HERER| 3 1,800 2,400
EE? —f 4 4,222 4,200 | FEOROFED| —fiE 2 2,035 2,000 2,000 2,000
waEEK 4 2,100 HERER| 2 1,300 1,600
wH | 3 3,167 3,100 I —% 2 2,035 2,000 2,000 2,000
BEEK 3 1,550 HERER| 2 1,700 1,800
W — % - wRrosaas| ERER | ik 763 700 700 700
B GRE K - ERHOIIIEY BEKEK| 0.75 400 500
Hafn= FEE | R 3 938 | * 700 BRI — 3 904 700 800 900
BEEK 3 350 HERER| 3 500 700
EEC —f 4 1,251 1,200 | FHOROFHD|  —ii% 2 603 600 600 600
BEEK 4 600 HERER| 2 400 500
wH | 3 938 900 I —% 2 603 600 600 600
BEEK 3 450 HERER| 2 500 500
WERAE | — A% - ERsoEEs] JERME | —i% | 0.75 226 200 200 200
R GRE K - ERHOIHIRY e 0.75 100 100
A= (FE=E) Rl | 3 703 | * 500 BRI —fix 3 678 500 500 600
BwEEE 3 250 MKl 3 300 400
EE — 4 938 900 | FEORUF#D| —fi 2 452 400 400 400
BEEK 4 450 wEEE 2 200 300
wIH | i 3 703 700 &I —f% 2 452 400 400 400
BwEEK 3 350 wEEE 2 300 300
WS —fi% - wRrostas| ERMEME | ik | 0.75 169 100 100 100
R GRE K - ERHOIHIRY e K| 0.75 100 100
KE PRl | 3 234 | * 200 BRI —fix 3 226 200 200 200
BwEEK 3 100 MKl 3 100 100
EE — 4 312 300 | FEORUF#D| —fi 2 150 100 100 100
BEEK 4 150 wEEE 2 100 100
®H | K 3 234 200 il —i 2 150 100 100 100
BwEEE 3 100 wEEE 2 100 100
R —i - wERsosEs] JERMAE | —i% | o. 56 100 100 100
AR GRE K - A DIFNEY BGREE] 0. 100 100
Vom—avE| R | ik 3 1,876 | * 1,400 ERil] —fix 3 1,809 1,500 1,600 1,800
BwEEE 3 700 wEkEE| 3 1,000 1,400
EE —i 4 2,502 2,500 | FEOROFED|] —f% 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 wEkEE 2 800 1,000
w’H | 3 1,876 1,800 il —i 2 1,206 1,200 1,200 1,200
BwEEE 3 900 wEEE 2 1,000 1,100
RERAEE | — i - wRoEEsl JERMAE | —M#% | 0.75 452 400 400 400
AR GRE K - A DIFNEY ek E| 0.75 200 300
B (AT [ ZFR | —i% 3 1,971 | * 1,500 ERil] — % 3 1,900 1,600 1,700 1,900
BwEEE 3 750 wEkEE| 3 1,100 1,500
F4 — % 4 2,628 2,600 | FEOROFED| —f% 2 1,267 1,200 1,200 1,200
BEEE 4 1,300 BwEEE 2 800 1,000
®H | K 3 1,971 1,900 il —i 2 1,267 1,200 1,200 1,200
wEEE 3 950 BwEEE 2 1,000 1,100
WERRE | R - wRsossEs] JERMAE | —i% | o. 475 400 400 400
AR GRE K - EFHOIRNEY BEREE| 0.75 200 300
RhE (AL ER) | ZFRT | — A 3 2,815 | * 2,200 il —i 3 2,714 2,300 2,500 2,700
BwEEE 3 1,100 BwEEE 3 1,600 2,100
T | ik 4 3,753 3,700 | FRORUF#D| —i% 2 1,809 1,800 1,800 1,800
BEEE 4 1,850 BwEEE 2 1,200 1,500
®H | K 3 2,815 2,800 il —i 2 1,809 1,800 1,800 1,800
wEEE 3 1,400 BwEEE 2 1,500 1,600
WERRE | R - wRsosEEsl FERMEAE | —i% | 0.75 678 600 600 600
DA | Gk O - EAHOIRNEY AEREE] 0. 400 500
ot aKE Rl ik 1 1,173 | * 900 il —i 1 1,131 900 1,000 1,100
BEEE 1 450 K1 600 800
1% 1 1,173 1,100 4% i 1 1,131 1,100 1,100 1,100
1 550 BwEEE 1 700 900
&IH 1 1,173 1,100 &I — 1 1,131 1,100 1,100 1,100
1 550 BwEEE 1 700 900
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S A 5

BOAT % E
FEARH X e & — |7 )5 FR 5 1 156 100 LR} M 1 150 100 100 100
Tt | R 1 156 100 1% i 1 150 100 100 100
| M 1 156 100 B W 1 150 100 100 100
B R (Rm#EA) | 4R 1 1,495 | * 900 i —i 1 1,438 1,000 1,200 1,400
1 450 BwEEE 1 700 1,000
4% 1 1,495 1,400 4% i 1 1,438 1,400 1,400 1,400
1 700 BwEREE 1 900 1,100
KIH 1 1,495 1,400 Gl —fi 1 1,438 1,400 1,400 1,400
1 700 BEEE 1 900 1,100
REE CRmEM) | il 1 747 700 FRiT —fi 1 719 500 600 700
1 350 BEEE 1 400 500
T4 1 747 700 4% — i 1 719 700 700 700
1 350 BEEE 1 500 600
KIH 1 747 700 Gl —fi 1 719 700 700 700
1 350 BEEE 1 500 600
thwrE (L/3mlEm) | R 1 493 400 Eiif — i 1 474 400 400 500
1 200 BEEE 1 300 400
14 1 493 400 T4 —fi 1 474 500 500 500
1 200 BEEE 1 300 400
wW | 1 493 400 | —i% 1 474 500 500 500
BEREE 1 200 BEEE 1 300 400
QL 4mEm) | PR | iR 1 373 300 PRIl —fi 1 359 300 300 400
BEEE 1 150 BEEE 1 200 300
Tk | ik 1 373 300 ER3 — i 1 359 400 400 400
BEEE 1 150 BEEE 1 300 300
w | 1 373 300 I —i% 1 359 400 400 400
BEEE 1 150 BEEE 1 300 300
BRI R o — | B 1 HE Y AT | 3 2,346 | * 1,800 Rl — 3 2,262 1,900 2,000 2,200
BEEK 3 900 BEEE 3 1,300 1,700
e | 4 3,128 3,100 | FEOROFHD| —fi 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 BEEE 2 1,000 1,200
w | 3 2,346 2,300 H[H] —fi 2 1,508 1,500 1,500 1,500
BEEE 3 1,150 BEEE 2 1,200 1,300
WA i - wAsosEiay| EREMAR | ik [ 0.75 565 500 500 500
ARG - ERKHOIEIEY HEER| 0.75 300 400
HoERE | R 3 1,876 | 1,400 Rl — 3 1,809 1,500 1,600 1,800
wEEE 3 700 HEEE 3 1,000 1,400
T4 .14 4 2,502 2,500 | FEOROFER| A% 2 1,206 1,200 1,200 1,200
BEEAK] 4 1,250 G 2 800 1,000
il W 3 1,876 1,800 il % 2 1,206 1,200 1,200 1,200
wEEE 3 900 e 2 1,000 1,100
WEREE ik - ERBosEEs] LR AR % 1 0.75 452 400 400 400
ARG - ERKHOIEIEY G| 0.75 200 300
FIERE ERiil W 3 703 | * 500 ERill % 3 678 500 500 600
wEEE 3 250 HEEE 3 300 400
T4 .14 4 938 900 | FEORUF#D| —fik 2 452 400 400 400
BEEAK] 4 450 G 2 200 300
il e 3 703 700 el % 2 452 400 400 400
wEEE 3 350 e 2 300 300
WEREE % - ERBOsEEs] LR AR % 1 0.75 169 100 100 100
ARG - ERKHOIEIEY FERER| 0.75 100 100
HAERE BRI W 3 3,753 | * 3,000 LR} W 3 3,619 3,200 3,400 3,600
BwEkEE 3 1,500 weEkl 3 2,200 2,900
% W 4 5,004 5000 | FEOROFED| % 2 2,412 2,400 2,400 2,400
BwEER 4 2,500 wEEE 2 1,600 2,000
il W 3 3,753 3,700 w W 2 2,412 2,400 2,400 2,400
BwEkEE 3 1,850 wEEE 2 2,000 2,200
e i - ALl AL AR Wz 0.75 904 900 900 900
il - ERHOIEIEY kK| 0.75 600 700
HSERE BRI W 3 2,346 | * 1,800 LR} W 3 2,262 1,900 2,000 2,200
BwEEE 3 900 weEEl 3 1,300 1,700
% W 4 3,128 3100 | FeOrOFR| % 2 1,508 1,500 1,500 1,500
BwEER 4 1,550 wEEE 2 1,000 1,200
il W 3 2,346 2,300 ® W 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 wEEE 2 1,200 1,300
WERE i - wAsosEs| AL R & | 0. 565 500 500 500
il - ERHOEEY HEKER| 0.75 300 400
EERRIIES BRI M 3 L173 | * 900 R M 3 1,131 900 1,000 1,100
waEEK 3 450 HEKER| 3 600 800
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S A 5

BOAT % E
B HX Rtr 2 — | 51 F R 4 2.3 4 1,564 1,500 | FORUFED| —fiF 2 754 700 700 700
BEEK 4 750 HEKER| 2 400 500
il M 3 1,173 1,100 e} M 2 754 700 700 700
BEEKl 3 550 HEEER 2 600 600
WEEE i - wAsoEmas] LR R i |0.75 282 200 200 200
HEkE - ERAEOIEIEY BERER | 0. 100 100
H2fn= ERiil M 3 2,346 | * 1,800 BRI M 3 2,262 1,900 2,000 2,200
BEEK 3 900 HERER| 3 1,300 1,700
EEC —f 4 3,128 3,100 | FEOROFHD| —fi% 2 1,508 1,500 1,500 1,500
BEEK 4 1,550 HERER| 2 1,000 1,200
wH | k& 3 2,346 2,300 B — % 2 1,508 1,500 1,500 1,500
BEEK 3 1,150 HERER| 2 1,200 1,300
W - sAnosias] LRGN | & 0. 565 500 500 500
B GRE K - ERHOIHIEY HERER| 0.75 300 400
3 PR | R 3 938 | * 700 BRI — % 3 904 700 800 900
BEEK 3 350 HEkER| 3 500 700
EE? —f 4 1,251 1,200 | FH#OROFHD|  —ii% 2 603 600 600 600
BEEK 4 600 HERER| 2 400 500
wH | % 3 938 900 I —% 2 603 600 600 600
BEEK 3 450 HERER| 2 500 500
W — % - wRrosaas| ERER | ik 226 200 200 200
B GRE K - ERHOIHIEY HEREK| 0.75 100 100
HAFI=E PRl | 3 703 | * 500 BRI —fix 3 678 500 500 600
BwEEK 3 250 MKl 3 300 400
EE — 4 938 900 | FEORUF#D| —fi 2 452 400 400 400
BEEK 4 450 wEEE 2 200 300
wIH | i 3 703 700 &I —f% 2 452 400 400 400
BwEEK 3 350 wEEE 2 300 300
WS —fi% - wRrosEas| ERMEME | ik | 0.75 169 100 100 100
R GRE K - ERHOIHIRY e K| 0.75 100 100
H5F= PRl | 3 985 | * 700 BRI —fix 3 950 700 800 900
BwEEK 3 350 MKl 3 500 700
EE — 4 1,314 1,300 | FHOROFHD|  —fi% 2 633 600 600 600
BEEK 4 650 wEEK 2 400 500
w’H | 3 985 900 &I —f% 2 633 600 600 600
BwEEE 3 450 wEEE 2 500 500
ERIRE | — - wRsoEEs] JERMAE | —i% | o. 339 200 200 300
AR GRE K - A DIFNEY ek E| 0.75 100 200
KE BRI 3 3 469 400 ERil] —fix 3 452 400 400 400
BwEEE 3 200 wEkEE| 3 200 300
F4 — % 4 625 600 | FORUF#D| —fik 2 301 300 300 300
BEEE 4 300 wEkEE 2 200 200
w | 3 469 400 kel —i 2 301 300 300 300
BwEEE 3 200 wEkEE 2 200 200
R — % - wRsoEEs] JERMAE | —i% | o. 113 100 100 100
AR GRE K - EAHOIFNEY BEREE] 0. 100 100
Hlvsyz—vars | R | R 3 1,055 | * 800 ERil] —fix 3 1,017 800 900 1,000
BwEEE 3 400 K 3 600 800
F4 — % 4 1,407 1,400 | FOROFHD|  —fi% 2 678 600 600 600
BEEE 4 700 wEkEE 2 400 500
w’H | 3 1,055 1,000 el —i 2 678 600 600 600
wEEE 3 500 BwEEE 2 500 500
e - wRsossEs] REME | —& | 0.75 254 200 200 200
AR GRE K - EAHOIRNEY AR E| 0.75 100 100
morsyz—vavik | PR | ik 3 1,407 | * 1,000 il —i 3 1,357 1,100 1,200 1,300
BwEEE 3 500 HwEEE 3 700 1,000
T | ik 4 1,876 1,800 | F#OROFHD| —fi% 2 904 900 900 900
BEEE 4 900 BwEEE 2 600 700
®H | K 3 1,407 1,400 il —i 2 904 900 900 900
BwEEE 3 700 BwEEE 2 700 800
BEEE | - wRsossEs] JERMAE | —i% | o. 339 300 300 300
AR GRE K - EAHOIRNEY AR 0.75 200 200
TR (LM | el | i 3 2,346 | * 1,800 il —i 3 2,262 1,900 2,000 2,200
BwEEE 3 900 HwEEE| 3 1,300 1,700
T | ik 4 3,128 3,100 | FROROF#D| —i% 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 BwEEK| 2 1,000 1,200
&IH 3 2,346 2,300 &I — 2 1,508 1,500 1,500 1,500
3 1,150 BwEREE 2 1,200 1,300
W A - wRsossias| IEREMR | ik [ 0.75 565 500 500 500
- AR DIENE L AEREE 0. 300 400
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S A 5

BOAT % E
B R — | T35 (EAT) | R8T 2.3 3 1,173 | * 900 BRI % 3 1,131 900 1,000 1,100
BEEKl 3 450 HEEE 3 600 800
EEC 83 4 1,564 1,500 | FOROFRG| ik 2 754 700 700 700
BEEK 4 750 HEEER 2 400 500
i} M 3 1,173 1,100 ] M 2 754 700 700 700
BEEKl 3 550 HEREIER 2 600 600
RS A% - wRsnEmes|  AEE R % | 0. 282 200 200 200
B GRE K - ERHOIHIEY HERER| 0.75 100 100
FHERE (AARUFREM) | ZFRT | — % 3 2,956 | * 2,200 BRI — 3 2,851 2,400 2,600 2,800
BEEK 3 1,100 HERER| 3 1,600 2,200
EE? —f 4 3,942 3900 | FEOROFHD| —fiF 2 1,900 1,900 1,900 1,900
BEEK 4 1,950 HERER| 2 1,200 1,500
wH | 3 2,956 2,900 I —% 2 1,900 1,900 1,900 1,900
BEEK 3 1,450 HERER| 2 1,600 1,700
W — % - wRrosaas| ERER | ik 712 600 600 700
B GRE K - ERHOIIIEY BEREIER| 0.75 400 500
FHRE B ALLEME | /FRT | % 3 4,222 | % 3,300 BRI — 3 4,071 3,500 3,700 4,000
BEEK 3 1,650 HERER| 3 2,400 3,200
EEC —f 4 5,630 5600 | FEOROFED| —fiF 2 2,714 2,700 2,700 2,700
BEEK 4 2,800 HERER| 2 1,800 2,200
wH | k& 3 4,222 4,200 B — % 2 2,714 2,700 2,700 2,700
BEEKl 3 2,100 HERER| 2 2,300 2,500
BRI — - wRsosEas| ERMEME | ik | 0.75 1,017 900 900 1,000
HRERER - BEAMOIFEY HEREE| 0. 600 800
[SECIE PR | R 3 2,346 2,300
BwEEE 3 1,150
T | R 4 3,128 3,100
BEEK 4 1,550
®wH | & 3 2,346 2,300 — & 1 890 800 800 800
BwEEK 3 1,150 BwEEEl 1 800 800
Wy | —f - BAMOIEAEY
R ERER - FERHOIEAEY
TR PR R 1 1,876 | * 1,400 PR — 1 1,809 1,500 1,600 1,800
BEEK 1 700 wEEEl 1 1,000 1,400
i — i 1 1,876 1,800 ERC: —fix 1 1,809 1,800 1,800 1,800
BEEK 1 900 wEEEl 1 1,200 1,500
®H | K 1 1,876 1,800 il —i 1 1,809 1,800 1,800 1,800
BwEEE 1 900 wEEE 1 1,200 1,500
REE@EER) | Pl | iR 1 373 300 ERil] —fix 1 359 300 300 300
BwEEE 1 150 wEEE 1 200 200
F4 — i 1 373 300 Tt —fix 1 359 300 300 300
BwEEE 1 150 wEEE 1 200 200
®H | 1 373 300 kel —i 1 359 300 300 300
BwEEE 1 150 wEEE 1 200 200
E KRy — | 1 HE AR FET | i 3 1,407 | * 1,000 “FHil —fix 3 1,357 1,100 1,200 1,300
BwEEE 3 500 wEkEE| 3 700 1,000
F4 —i 4 1,876 1,800 | FORUF#HD| —fik 2 904 900 900 900
BEEE 4 900 wEEE 2 600 700
®’H | K 3 1,407 1,400 el —i 2 904 900 900 900
BwEEE 3 700 wEkEE 2 700 800
RERAEE | — i - wRsosEs] JERMAE | —i% | o. 339 300 300 300
AR GRE K - EAHOIRNEY AR E| 0.75 200 200
oM Rl ik 3 469 400 Gl —i 3 452 400 400 400
wEEE 3 200 BwEEE 3 200 300
T | ik 4 625 600 | FRORUF#D| —i% 2 301 300 300 300
BEEE 4 300 BwEEE 2 200 200
®H | K 3 469 400 il —i 2 301 300 300 300
BwEEE 3 200 BwEEE 2 200 200
R —i - wAsossms] EREME | —& | 0.75 113 100 100 100
AR GRE K - EFHOIRNEY AR E| 0.75 100 100
B Rl ik 3 469 400 i —i 3 452 400 400 400
wEEE 3 200 HwEEE| 3 200 300
T | ik 4 625 600 | FRORUF#D| —i% 2 301 300 300 300
BEEE 4 300 BwEEE 2 200 200
®H | K 3 469 400 il —i 2 301 300 300 300
BwEEE 3 200 BwEEK| 2 200 200
I ] - wAnossEs] ERMEMAE | & |o. 113 100 100 100
- AR OIENE L AEREE 0. 100 100
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S A 5

BOAT [
R — | AR N ERiil M 3 L173 | * 900 BRI M 3 1,131 900 1,000 1,100
BEEK 3 450 HEKER| 3 600 800
EEC M 4 1,564 1,500 | FOROFRG| ik 2 754 700 700 700
BEEK 4 750 HEKER| 2 400 500
i} M 3 1,173 1,100 ] M 2 754 700 700 700
BEEK 3 550 HEKER| 2 600 600
RS A% - wRsnEmes|  AEE R % | 0. 282 200 200 200
B GRE K - ERHOIHIEY HERER| 0.75 100 100
FBERE PR | 3 2,815 | * 2,200 BRI — % 3 2,714 2,300 2,500 2,700
BEEK 3 1,100 HERER| 3 1,600 2,100
EE? —f 4 3,753 3,700 | FEOROFED| —fiE 2 1,809 1,800 1,800 1,800
BEEK 4 1,850 HERER| 2 1,200 1,500
wH | 3 2,815 2,800 I —% 2 1,809 1,800 1,800 1,800
BEEKl 3 1,400 HERER| 2 1,500 1,600
W — % - wRrosaas| ERER | ik 678 600 600 600
B GRE K - ERHOIIIEY BEREIER| 0.75 400 500
HOERE PR | 3 2,815 | * 2,200 BRI — 3 2,714 2,300 2,500 2,700
BEEK 3 1,100 HERER| 3 1,600 2,100
EEC —f 4 3,753 3,700 | FEOROFED| —fiF 2 1,809 1,800 1,800 1,800
BEEK 4 1,850 HERER| 2 1,200 1,500
wH | 3 2,815 2,800 I —% 2 1,809 1,800 1,800 1,800
BEEKl 3 1,400 HERER| 2 1,500 1,600
WERAE | — A% - ERsoEEs] JERME | —i% | 0.75 678 600 600 600
R GRE K - ERHOIHIRY e 0.75 400 500
HI0EA=S Rl | 3 2,815 | * 2,200 BRI —fix 3 2,714 2,300 2,500 2,700
BwEEE 3 1,100 MKl 3 1,600 2,100
Tk | R 4 3,753 3,700 | FOROFHE| —f% 2 1,809 1,800 1,800 1,800
BEEK 4 1,850 wEEE 2 1,200 1,500
wIH | i 3 2,815 2,800 &I —f% 2 1,809 1,800 1,800 1,800
BwEEK 3 1,400 wEEE 2 1,500 1,600
WERRE | — A% - wERsoEEs] JERME | —i% | 0.75 678 600 600 600
R GRE K - ERHOIHIRY e K| 0.75 400 500
3= (S =) PRl | 3 703 | * 500 BRI —fix 3 678 500 500 600
BwEEK 3 250 MKl 3 300 400
EE — 4 938 900 | FEORUF#D| —fi 2 452 400 400 400
BEEK 4 450 wEEE 2 200 300
w | 3 703 700 il —i 2 452 400 400 400
BwEEE 3 350 wEEE 2 300 300
WERRRE | — A% - wERsosEs] JERMAE | —i% | o. 169 100 100 100
AR GRE K - A DIFNEY BGREE] 0. 100 100
FAFI=E BRI 3 3 703 | % 500 ERil] —fix 3 678 500 500 600
BwEEE 3 250 wEkEE| 3 300 400
F4 — % 4 938 900 | FEORUF#D| —fi% 2 452 400 400 400
BEEE 4 450 wEkEE 2 200 300
w’H | 3 703 700 il —i 2 452 400 400 400
BwEEE 3 350 wEEE 2 300 300
ERIRE | — - wRoEEsl JERMAE | —M#% | 0.75 169 100 100 100
AR GRE K - A DIFNEY ek E| 0.75 100 100
HoF= (F=E) BRI 3 3 703 | % 500 ERil] —fix 3 678 500 500 600
BwEEE 3 250 wEkEE| 3 300 400
F4 — % 4 938 900 | FEORUF#®| —fi% 2 452 400 400 400
BEEE 4 450 BwEEE 2 200 300
®H | K 3 703 700 il —i 2 452 400 400 400
wEEE 3 350 BwEEE 2 300 300
WERRE | R - wRsossEs] JERMAE | —i% | o. 169 100 100 100
AR GRE K - EFHOIRNEY BEREE| 0.75 100 100
KR (1) R | ik 3 469 400 SRiil —i 3 452 400 400 400
BwEEE 3 200 BwEEE 3 200 300
T | ik 4 625 600 | FRORUF#D| —i% 2 301 300 300 300
BEEE 4 300 BwEEE 2 200 200
®H | K 3 469 400 il —i 2 301 300 300 300
wEEE 3 200 BwEEE 2 200 200
WERRE | R - wRsossEs] JERMAE | —i% | o. 113 100 100 100
AR GRE K - EAHOIRNEY AR E| 0.75 100 100
K (2) R | ik 3 234 200 SRiil —i 3 226 200 200 200
BwEEE 3 100 kK| 3 100 100
T 4 312 300 | FROROFHD| i 2 150 100 100 100
4 150 BwEREE 2 100 100
&IH 3 234 200 &I — 2 150 100 100 100
3 100 BwEREE 2 100 100
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S A 5

BOAT % E
R R o — | KR (2) mEEE | A% - wRsnms|  AEE R % | 0.75 56 100 100 100
HEkE - ERAEOIEIEY HERE 4] 0.75 100 100
TR (LEEM) | ol M 3 3,284 | * 2,500 BRI M 3 3,166 2,700 2,900 3,100
BEEK 3 1,250 HEEER 3 1,800 2,400
P M 4 4,379 4,300 | FEOROFERE| % 2 2,111 2,100 2,100 2,100
BEEK 4 2,150 HEREIER 2 1,400 1,700
e} M 3 3,284 3,200 e} M 2 2,111 2,100 2,100 2,100
BEEK 3 1,600 HERER| 2 1,700 1,900
W — % - wRsosaay| ERER | ik 791 700 700 700
B GRE K - ERHOIHIEY BEREIR| 0.75 400 500
TEEEERED | Fal | ik 3 1,642 | * 1,200 BRI — % 3 1,583 1,300 1,400 1,500
BEEK 3 600 HERER| 3 900 1,200
EE? —f 4 2,189 2,100 | FEOROFED| —fiE 2 1,055 1,000 1,000 1,000
BEEKl 4 1,050 HERER| 2 600 800
wH | % 3 1,642 1,600 i} —% 2 1,055 1,000 1,000 1,000
BEEK 3 800 HERER| 2 800 900
WEE % - wRsosaas| ERER | ik 5 395 300 300 300
B GRE K - ERHOIHIEY HERER| 0. 200 200
B LALFRM) | ZFRT | — 3 2,628 | * 2,100 BRI —fix 3 2,533 2,200 2,300 2,500
BEEK 3 1,050 HERER| 3 1,500 2,000
EE? —f 4 3,504 3500 | FEOROFED| —fiE 2 1,688 1,600 1,600 1,600
BEEK 4 1,750 HERER| 2 1,100 1,300
®wH | & 3 2,628 2,600 &I —f% 2 1,688 1,600 1,600 1,600
BwEEK 3 1,300 wEEK 2 1,400 1,500
WA | — A% - wERoEEs] JERME | —i% | 0.75 633 600 600 600
R GRE K - ERHOIHIRY e K| 0.75 400 500
FHERS (1AL L6 | PR | — 3 3,753 | * 3,000 BRI —fix 3 3,619 3,200 3,400 3,600
BwEEK 3 1,500 MKl 3 2,200 2,900
4 — 4 5,004 5000 | FEOROFED| —f% 2 2,412 2,400 2,400 2,400
BEEK 4 2,500 wEEE 2 1,600 2,000
®wH | & 3 3,753 3,700 &I —f% 2 2,412 2,400 2,400 2,400
BwEEK 3 1,850 wEEE 2 2,000 2,200
WERAE | — A% - wERoEEs] JERME | —i% | 0.75 904 900 900 900
R GRE K - ERHOIHIRY TG 0.7 600 700
[SECIE PR R 3 3,284 3,200
BwEEE 3 1,600
F4 — % 4 4,379 4,300
BEEE 4 2,150
®H | 3 3,284 3,200 — i 1 890 800 800 800
BwEEE 3 1,600 wEEE 1 800 800
Wyl | —f - BEAMOIEAEY
HRERER - fEFAHOERY
AR Rl | ik 1 1,876 | * 1,400 ERil] —fix 1 1,809 1,500 1,600 1,800
BwEEE 1 700 wEEE 1 1,000 1,400
F4 — i 1 1,876 1,800 Tt —fix 1 1,809 1,800 1,800 1,800
BwEEE 1 900 wEEE 1 1,200 1,500
®H | 1 1,876 1,800 el —i 1 1,809 1,800 1,800 1,800
BwEEE 1 900 wEEE 1 1,200 1,500
HoTAE R | 1 821 | 700 PR — 1 791 700 700 700
BwEEE 1 350 wEEE 1 400 500
F4 — i 1 821 800 4 —fix 1 791 700 700 700
BEEE 1 400 BwEEE 1 500 600
®H | K 1 821 800 il —i 1 791 700 700 700
BEEE 1 400 BwEEE 1 500 600
RE=E@EER) | P | iR 1 TAT | % 500 PRl —fix 1 719 500 600 700
BEEE 1 250 BwEEE 1 400 500
Fth | 1 747 700 Pk —fix 1 719 700 700 700
BEEE 1 350 BwEEE 1 400 500
®H | K 1 747 700 il —i 1 719 700 700 700
BEEE 1 350 BwEEE 1 400 500
REECERER) | Pl | R 1 373 300 PRl —fix 1 359 300 300 400
BEEE 1 150 BwEEE 1 200 300
Fth | 1 373 300 Pk —fix 1 359 400 400 400
BEEE 1 150 BwEEE 1 200 300
®H | K 1 373 300 il —i 1 359 400 400 400
BEEE 1 150 K1 200 300
AR R s — |55 1 SR e L 3 2,346 | * 1,800 i i 3 2,262 1,900 2,000 2,200
3 900 BwEEE 3 1,300 1,700
4% 4 3,128 3100 | FOROFED|] A% 2 1,508 1,500 1,500 1,500
4 1,550 BwEREE 2 1,000 1,200
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S A 5

BOAT % E
AR e s — | B 1 HE S e} M 3 2,346 2,300 ] M 2 1,508 1,500 1,500 1,500
BEEK 3 1,150 HEKER| 2 1,200 1,300
W i - wRsosEiay| 5 R x| o. 565 500 500 500
A GRE K - ERHOIEIEY BEE k| 0.75 300 400
FERE ERiil M 3 2,346 | * 1,800 R M 3 2,262 1,900 2,000 2,200
BEEK 3 900 HEKER| 3 1,300 1,700
P M 4 3,128 3,100 | FOROFRE| % 2 1,508 1,500 1,500 1,500
BEEK 4 1,550 HERER| 2 1,000 1,200
wiH | k& 3 2,346 2,300 B —f% 2 1,508 1,500 1,500 1,500
BEEK 3 1,150 HERER| 2 1,200 1,300
W - sAnoims] LRGN | & 5 565 500 500 500
B GRE K - ERHOIHIEY HEREK| 0. 300 400
FBERE PR | 3 2,346 | * 1,800 R — % 3 2,262 1,900 2,000 2,200
BEEK 3 900 HERER| 3 1,300 1,700
EE? —f 4 3,128 3,100 | FEOROFHD| —fiF 2 1,508 1,500 1,500 1,500
BEEK 4 1,550 HERER| 2 1,000 1,200
wiH | k& 3 2,346 2,300 B —f& 2 1,508 1,500 1,500 1,500
BEEK 3 1,150 HERER| 2 1,200 1,300
W - wRoEEs] JERMAE | % | o. 565 500 500 500
B GRE K - ERHOIHIEY HERER| 0.75 300 400
FAERE PR | 3 4,692 | * 3,700 BRI — % 3 4,524 3,900 4,200 4,500
BEEK 3 1,850 HERER| 3 2,700 3,600
T | R 4 6,256 6,200 | FEOROFHD| —f% 2 3,016 3,000 3,000 3,000
BEEK 4 3,100 wEEK 2 2,000 2,500
wIH | i 3 4,692 4,600 &I —f& 2 3,016 3,000 3,000 3,000
BwEEE 3 2,300 wEEE 2 2,500 2,700
WA | — A% - wERsoEEsl JERME | —i% | 0.75 1,131 1,100 1,100 1,100
R GRE K - ERHOIHIRY e K| 0.75 700 900
HEHEE PR R 3 2,346 | * 1,800 BRI —fix 3 2,262 1,900 2,000 2,200
BwEEK 3 900 MKl 3 1,300 1,700
T | R 4 3,128 3100 | FEOROFHD| —f% 2 1,508 1,500 1,500 1,500
BEEL 4 1,550 wEEE 2 1,000 1,200
wIH | i 3 2,346 2,300 &I —f% 2 1,508 1,500 1,500 1,500
BwEEK 3 1,150 wEEK 2 1,200 1,300
WA — i - wERoEEsl JERME | —i% | 0.75 565 500 500 500
R GRE K - ERHOIHIRY e K| 0.75 300 400
HEEARE BRI 3 3 2,111 | * 1,600 PR — % 3 2,035 1,700 1,800 2,000
BwEEE 3 800 K 3 1,200 1,600
Tk | ik 4 2,815 2,800 | FEOROFHD| —f% 2 1,357 1,300 1,300 1,300
BEEE 4 1,400 wEkEE 2 900 1,100
w | 3 2,111 2,100 el —i 2 1,357 1,300 1,300 1,300
BwEEE 3 1,050 wEkEE 2 1,100 1,200
ERIRE | — - wRsosEs] JERMAE | —i% | o. 508 400 400 500
AR GRE K - A OIFNEY ek K| 0.75 300 400
WTRRE FET | i 3 469 400 PR — % 3 452 400 400 400
BwEEE 3 200 wEkEE| 3 200 300
F4 —i 4 625 600 | FORUF#D| —fik 2 301 300 300 300
BEEE 4 300 wEEE 2 200 200
w | 3 469 400 el —i 2 301 300 300 300
BwEEE 3 200 wEkEE 2 200 200
RERAEE | — i - wRsosEs] JERMAE | —i% | o. 113 100 100 100
AR GRE K - EAHOIRNEY AR E| 0.75 100 100
R (Eas | PR | 3 2,346 | * 1,800 il —i 3 2,262 1,900 2,000 2,200
BT 2HE) whEAK| 3 900 wEEE| 3 1,300 1,700
T | ik 4 3,128 3,100 | FRORUF#D| —i% 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 BwEEE 2 1,000 1,200
®H | K 3 2,346 2,300 il —i 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 BwEEE 2 1,200 1,300
R —i - wAsossms] EREME | —& | 0.75 565 500 500 500
AR GRE K - EFHOIRNEY AR E| 0.75 300 400
s (Eas | PR | 3 1,173 | * 900 i —i 3 1,131 900 1,000 1,100
HRL2WEE) whEAK| 3 450 wEEE| 3 600 800
T | ik 4 1,564 1,500 | F#ORUFRO| —fiF 2 754 700 700 700
BEEE 4 750 BwEEE 2 400 500
®H | K 3 1,173 1,100 il —i 2 754 700 700 700
BwEEE 3 550 BwEEK| 2 600 600
I ] - wAnossEs] ERMEMAE | & |o. 282 200 200 200
- EREOIEIEY BEREE| 0.75 100 100
HofnE eaif 3 1,876 | * 1,400 GRiil — 3 1,809 1,500 1,600 1,800
3 700 BwEEE 3 1,000 1,400
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S A 5

BOAT % E
KRR R — | 52 F1E LR 214 4 2,502 2,500 | FEOROFED| % 2 1,206 1,200 1,200 1,200
BEEKl 4 1,250 HEKER| 2 800 1,000
il M 3 1,876 1,800 e} M 2 1,206 1,200 1,200 1,200
BEEK 3 900 HEKER| 2 1,000 1,100
WEEE i - wRsosEiay| 5 R i |0.75 452 400 400 400
HEkE - ERAEOIEIEY ek ] 0. 200 300
H3fn= ERiil M 3 1,876 | * 1,400 BRI M 3 1,809 1,500 1,600 1,800
BEEK 3 700 HERER| 3 1,000 1,400
EEC —f 4 2,502 2,500 | FEOROFED| —fiE 2 1,206 1,200 1,200 1,200
BEEK 4 1,250 HERER| 2 800 1,000
wH | 3 1,876 1,800 I —% 2 1,206 1,200 1,200 1,200
BEEK 3 900 HERER| 2 1,000 1,100
WEE % - wRsosEmas| ERMEME | % |o. 452 400 400 400
B GRE K - ERHOIHIEY HEREIR| 0.75 200 300
Hafn= (FE) PR | 3 938 | * 700 BRI —fix 3 904 700 800 900
BEEK 3 350 HEkER| 3 500 700
EE? —f 4 1,251 1,200 | FH#OROFHD|  —ii% 2 603 600 600 600
BEEK 4 600 HERER| 2 400 500
wH | % 3 938 900 I —% 2 603 600 600 600
BEEK 3 450 HERER| 2 500 500
W — % - wRrosaas| ERER | ik 452 200 300 400
B GRE K - ERHOIHIEY HEREIR| 0.75 200 300
KE PRl | 3 234 200 BRI —fix 3 226 200 200 200
BwEEK 3 100 MKl 3 100 100
EE — % 4 312 300 | FEORUF#D| —fi 2 150 100 100 100
BEEK 4 150 wEEE 2 100 100
w’H | 3 234 200 &I —f% 2 150 100 100 100
BwEEK 3 100 wEEE 2 100 100
WERRE | — A% - wERoEEsl JERME | —i% | 0.75 56 100 100 100
R GRE K - ERHOIHIRY e K| 0.75 100 100
T (T | el | — 3 3,284 | * 2,500 BRI —fix 3 3,166 2,700 2,900 3,100
BwEEK 3 1,250 MKl 3 1,800 2,400
EE — 4 4,379 4300 | FEOROFEE|] —f% 2 2,111 2,100 2,100 2,100
BEEK 4 2,150 wEEK 2 1,400 1,700
wIH | i 3 3,284 3,200 &I —f% 2 2,111 2,100 2,100 2,100
BwEEE 3 1,600 wEEE 2 1,700 1,900
ERIRE | — - wRsoEEs] JERMAE | —i% | o. 791 700 700 700
AR GRE K - A DIFNEY ek E| 0.75 400 500
THEEOEERMM) | Pl | —iR 3 1,642 | * 1,200 ERil] —fix 3 1,583 1,300 1,400 1,500
BwEEE 3 600 wEkEE| 3 900 1,200
EE — % 4 2,189 2,100 | FEOROFED| —f% 2 1,055 1,000 1,000 1,000
BEEE 4 1,050 wEkEE 2 600 800
®H | 3 1,642 1,600 kel —i 2 1,055 1,000 1,000 1,000
BwEEE 3 800 wEkEE 2 800 900
WERRE | — A% - wRsoEEs] JERMAE | —i% | o. 791 400 500 700
AR GRE K - EAHOIFNEY BEREE] 0. 300 500
B (AT [ ZFR | —% 3 3,285 | * 2,500 ERil] — % 3 3,166 2,700 2,900 3,100
BwEEE 3 1,250 K 3 1,800 2,400
EE — % 4 4,380 4300 | FEOROFEE|] —f% 2 2,111 2,100 2,100 2,100
BEEE 4 2,150 wEkEE 2 1,400 1,700
w’H | 3 3,285 3,200 el —i 2 2,111 2,100 2,100 2,100
wEEE 3 1,600 BwEEE 2 1,700 1,900
RERRE | R - wRsoEEsl FERMAE | —i#% | 0.75 791 700 700 700
AR GRE K - EAHOIRNEY AR E| 0.75 400 500
RhEE (AL TFHO) | ZFRT | — A 3 4,692 | * 3,700 il —i 3 4,524 3,900 4,200 4,500
BwEEE 3 1,850 HwEEE 3 2,700 3,600
T | ik 4 6,256 6,200 | FRORUF#D| —i% 2 3,016 3,000 3,000 3,000
BEEE 4 3,100 BwEEE 2 2,000 2,500
®H | K 3 4,692 4,600 il —i 2 3,016 3,000 3,000 3,000
BwEEE 3 2,300 BwEEE 2 2,500 2,700
WERRE | R - wRsosEEsl FERMAE | —i% | 0.75 1,131 1,100 1,100 1,100
AR GRE K - EAHOIRNEY AR 0.75 700 900
STV Rl ik 3 4,692 4,600
BwEEE 3 2,300
e | ik 4 6,256 6,200
BEEE 4 3,100
&R 3 4,692 4,600 — 1 890 800 800 800
3 2,300 BwEEE 1 800 800
IREE - R OIEIAEY
- fERHDIEEY
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S A 5

BOAT % E
AR e 5 — | 51 S ERiil M 1 1,642 | * 1,200 BRI M 1 1,583 1,300 1,400 1,500
BEEK 1 600 BEKER 1 900 1,200
P M 1 1,642 1,600 Pk M 1 1,583 1,500 1,500 1,500
BEEK 1 800 BEKER 1 1,000 1,200
i} M 1 1,642 1,600 ] M 1 1,583 1,500 1,500 1,500
BEEK 1 800 BEKER 1 1,000 1,200
F2EAE ERiil M 1 1,055 | * 800 BRI M 1 1,017 800 900 1,000
BEEEK 1 400 HERER 1 600 800
EEC —fi 1 1,055 1,000 R — 1 1,017 1,000 1,000 1,000
BEEK 1 500 HERER 1 600 800
wH | k& 1 1,055 1,000 B — % 1 1,017 1,000 1,000 1,000
BEEK 1 500 HERER 1 600 800
KR (R | el | R 1 373 300 R — % 1 359 300 300 300
BEEK 1 150 HERER 1 200 200
EE? —fi 1 373 300 R — 1 359 300 300 300
BEEK 1 150 HERER 1 200 200
wH | 1 373 300 I —% 1 359 300 300 300
BEEK 1 150 HERER 1 200 200
SERHRIR R o — | B TSR PR | 3 2,815 | * 2,200 BRI — % 3 2,714 2,300 2,500 2,700
BEEK 3 1,100 HERER| 3 1,600 2,100
EE? —f 4 3,753 3,700 | FEOROFHD| —fiE 2 1,809 1,800 1,800 1,800
BEEK 4 1,850 HERER| 2 1,200 1,500
wIH | i 3 2,815 2,800 &I —f% 2 1,809 1,800 1,800 1,800
BwEEK 3 1,400 wEEK 2 1,500 1,600
WA | — A% - wERoEEs] JERME | —i% | 0.75 678 600 600 600
R GRE K - ERHOIHIRY e K| 0.75 400 500
ot PR R 3 2,815 | * 2,200 BRI —fix 3 2,714 2,300 2,500 2,700
BwEEK 3 1,100 MKl 3 1,600 2,100
T | R 4 3,753 3,700 | FOROFHD| —f% 2 1,809 1,800 1,800 1,800
BEEK 4 1,850 wEEE 2 1,200 1,500
wIH | i 3 2,815 2,800 &I —f% 2 1,809 1,800 1,800 1,800
BwEEK 3 1,400 wEEE 2 1,500 1,600
WERAE | — A% - wERoEEs] JERME | —i% | 0.75 678 600 600 600
R GRE K - ERHOIHIRY e K| 0.75 400 500
IR PR R 3 2,346 | * 1,800 BRI —fix 3 2,262 1,900 2,000 2,200
BwEEE 3 900 MKl 3 1,300 1,700
T | 4 3,128 3100 | FOROFHE| —fi% 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 wEEE 2 1,000 1,200
w’H | 3 2,346 2,300 el —i 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 wEkEE 2 1,200 1,300
ERIRE | — - wERsoEEsl JERMAE | —i#% | 0.75 565 500 500 500
AR GRE K - A OIFNEY ek K| 0.75 300 400
HARRE Rl | ik 3 2,111 | * 1,600 PR — % 3 2,035 1,700 1,800 2,000
BwEEE 3 800 wEkEE| 3 1,200 1,600
k| i 4 2,815 2,800 | FEOROFHD| —f% 2 1,357 1,300 1,300 1,300
BEEE 4 1,400 wEEE 2 900 1,100
w | 3 2,111 2,100 el —i 2 1,357 1,300 1,300 1,300
BwEEE 3 1,050 wEEE 2 1,100 1,200
ERIRE | — - wERsosEs] JERMAE | —i% | o. 508 400 400 500
AR GRE K - A OIFNEY ek K| 0.75 300 400
HSEAE FaT | ik 3 2,111 | * 1,600 PR — % 3 2,035 1,700 1,800 2,000
wEEE 3 800 HwEEE| 3 1,200 1,600
T | ik 4 2,815 2,800 | FRORUF#D| —i% 2 1,357 1,300 1,300 1,300
BEEE 4 1,400 BwEEE 2 900 1,100
®H | K 3 2,111 2,100 il —i 2 1,357 1,300 1,300 1,300
BwEEE 3 1,050 BwEEE 2 1,100 1,200
R —i - wRsossEs] JERMAE | —i% | o. 508 400 400 500
AR GRE K - EAHOIRNEY AR E| 0.75 300 400
HehEas Rl ik 3 2,346 | * 1,800 il —i 3 2,262 1,900 2,000 2,200
BwEEE 3 900 HwEEE| 3 1,300 1,700
T | ik 4 3,128 3,100 | FROROF#D| —i% 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 BwEEE 2 1,000 1,200
®H | K 3 2,346 2,300 il —i 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 BwEEE 2 1,200 1,300
R —i - wRsossms] REME | —#& | 0.75 565 500 500 500
AR GRE K - R OIFNEL BeREIE| 0.75 300 400
HTRRE - Rif 3 1,876 | * 1,400 GRiil — % 3 1,809 1,500 1,600 1,800
3 700 BwEEE 3 1,000 1,400
4% 4 2,502 2,500 | FEOROTFEE|] A% 2 1,206 1,200 1,200 1,200
4 1,250 BwEREE 2 800 1,000
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S A 5

BOAT % E
MR R 5 — | TR e} M 3 1,876 1,800 ] M 2 1,206 1,200 1,200 1,200
BEEK 3 900 HEKER| 2 1,000 1,100
W i - wRsosEiay| 5 R x| o. 452 400 400 400
HEkE - ERAHOIEIEY ek 0.75 200 300
EERRIIES ERiil M 3 1,642 | * 1,200 PR M 3 1,583 1,300 1,400 1,500
BEEK 3 600 HEKER| 3 900 1,200
P M 4 2,189 2,100 | FOROFED| % 2 1,055 1,000 1,000 1,000
BEEK 4 1,050 HERER| 2 600 800
wH | % 3 1,642 1,600 I —% 2 1,055 1,000 1,000 1,000
BEEK 3 800 HERER| 2 800 900
W — % - wRsosaas| ERER | ik 5 395 300 300 300
B GRE K - ERHOIHIEY HEREK| 0. 200 200
2= (=) PR | 3 938 | * 700 R —fix 3 904 700 800 900
BEEK 3 350 HERER| 3 500 700
EE? —f 4 1,251 1,200 | F#OROFRO| —fi% 2 603 600 600 600
BEEK 4 600 HERER| 2 400 500
wH | 3 938 900 I —% 2 603 600 600 600
BEEK 3 450 HERER| 2 500 500
WEE % - wRsosEas| ERMEME | % |o. 226 200 200 200
B GRE K - ERHOIHIEY HERER| 0.75 100 100
s (e | PR | 3 2,815 | * 2,200 ERill —fi% 3 2,714 2,300 2,500 2,700
T D% E) whEAk| 3 1,100 waEK 3 1,600 2,100
T | R 4 3,753 3,700 | FOROFHE| —f% 2 1,809 1,800 1,800 1,800
BEEK 4 1,850 wEEK 2 1,200 1,500
®wH | k& 3 2,815 2,800 &I —f& 2 1,809 1,800 1,800 1,800
BwEEE 3 1,400 wEEE 2 1,500 1,600
WA | — A% - wERsoEEsl JERME | —i% | 0.75 678 600 600 600
R GRE K - ERHOIHIRY e K| 0.75 400 500
wamER (ag | AT | 3 1,642 | * 1,200 ERill — i 3 1,583 1,300 1,400 1,500
HRALZRCNGE) whrEk| 3 600 wEEAE 3 900 1,200
T | R 4 2,189 2,100 | FEOROFEE| —f% 2 1,055 1,000 1,000 1,000
BEEL 4 1,050 wEEE 2 600 800
®wH | & 3 1,642 1,600 &I —f% 2 1,055 1,000 1,000 1,000
BwEEK 3 800 wEEK 2 800 900
WA — i - wERoEEsl JERME | —i% | 0.75 395 300 300 300
R GRE K - ERHOIHIRY e K| 0.75 200 200
HAFI=E BRI 3 3 2,346 | * 1,800 ERil] —fix 3 2,262 1,900 2,000 2,200
BwEEE 3 900 K 3 1,300 1,700
Tk | ik 4 3,128 3100 | FEOROFHD|] —f% 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 wEkEE 2 1,000 1,200
w | 3 2,346 2,300 el —i 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 wEkEE 2 1,200 1,300
ERIRE | — - wERoEEs] JERMAE | —i% | 0.75 565 500 500 500
AR GRE K - A OIFNEY BGREE] 0. 300 400
TS (i == FET | i 3 1,876 | * 1,400
BwEEE 3 700
F4 — % 4 2,502 2,500
sy 1.250 ERk2741 A1 8EEL
" | 3 1,876 1,800
BwEEE 3 900
eS| — % - ERAKO3EEY
HERER - ERKHOIBEY
KR R | ik 3 234 200 SRiil —i 3 226 200 200 200
wEEE 3 100 BwEEE 3 100 100
T | ik 4 312 300 | FRORVFHD| —i% 2 150 100 100 100
BEEE 4 150 BwEEE 2 100 100
®H | K 3 234 200 il —i 2 150 100 100 100
BwEEE 3 100 BwEEE 2 100 100
R —i - wAsossms] EREME | —& | 0.75 56 100 100 100
AR GRE K - EFHOIRNEY AR E| 0.75 100 100
TR (LEWEA) | el | i 3 2,815 | * 2,200 i —i 3 2,714 2,300 2,500 2,700
wEEE 3 1,100 HwEEE| 3 1,600 2,100
T | ik 4 3,753 3,700 | FROROF#D| —i% 2 1,809 1,800 1,800 1,800
BEEE 4 1,850 BwEEE 2 1,200 1,500
®H | K 3 2,815 2,800 il —i 2 1,809 1,800 1,800 1,800
BwEEE 3 1,400 BwEEK| 2 1,500 1,600
WA - wRsosEias| JERMEE | ik |o. 678 600 600 600
- ERARO3EMES BEREE| 0.75 400 500
THEEEERMEM) |l 3 1,407 | * 1,000 i i 3 1,357 1,100 1,200 1,300
3 500 BwEEE 3 700 1,000
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S A 5

e W e
SRR R p— | T35 (R | 4 M 4 1,876 1,800 | FOROFRO| % 2 904 900 900 900
BEEK 4 900 HEKER| 2 600 700
il M 3 1,407 1,400 e} M 2 904 900 900 900
BEEK 3 700 HEKER| 2 700 800
WEEE i - wRsosEiay| 5 R i |0.75 339 300 300 300
HEkE - ERAEOIEIEY BERER | 0. 200 200
FHE (UL | ZFRT M 3 3,613 | * 2,800 LR} M 3 3,483 3,000 3,200 3,400
BEEK 3 1,400 HERER| 3 2,000 2,700
EEC —f 4 4,818 4800 | FROKROF#O| —i% 2 2,322 2,300 2,300 2,300
BEEK 4 2,400 HERER| 2 1,500 1,900
wH | 3 3,613 3,600 I —% 2 2,322 2,300 2,300 2,300
BEEK 3 1,800 HERER| 2 1,900 2,100
WEE % - wRsosEmas| ERMEME | % |o. 870 800 800 800
B GRE K - ERHOIHIEY HERER| 0.75 500 600
RS (B ARLERE) | ZFRT | — % 3 5,161 | * 3,900 PR — % 3 4,976 4,200 4,500 4,900
BEEK 3 1,950 HEkER| 3 2,900 3,900
EE? —f 4 6,881 6,800 | FEOKRUF#O| —i% 2 3,317 3,300 3,300 3,300
BEEK 4 3,400 HERER| 2 2,200 2,700
wH | % 3 5,161 5,100 I —% 2 3,317 3,300 3,300 3,300
BEEK 3 2,550 HERER| 2 2,800 3,000
W — % - wRrossmas| ERMEME | & | 0.75 1,244 1,100 1,100 1,200
B GRE K - ERHOIHIEY HEREK| 0. 700 900
[SECIES PR R 3 3,753 3,700
BwEEK 3 1,850
T | R 4 5,004 5,000
BEEK 4 2,500
®wH | k& 3 3,753 3,700 — & 1 890 800 800 800
BwEEK 3 1,850 BwEEEl 1 800 800
Wy | —f - BAMOIEAEY
HRERER - HERAHOIEAEY
HEHE PR R 1 1,055 | * 800 BRI —fix 1 1,017 800 900 1,000
BEEK 1 400 wEEEl 1 600 800
i — i 1 1,055 1,000 ERT: —fix 1 1,017 1,000 1,000 1,000
BEEK 1 500 wEEEl 1 600 800
®wH | k& 1 1,055 1,000 &I —f% 1 1,017 1,000 1,000 1,000
BEEK 1 500 wEEEl 1 600 800
HoTAE BRI 3 1 1,876 | * 1,400 ERil] —fix 1 1,809 1,500 1,600 1,800
BwEEE 1 700 wEEE 1 1,000 1,400
F4 — i 1 1,876 1,800 Tt —fix 1 1,809 1,800 1,800 1,800
BwEEE 1 900 wEEE 1 1,200 1,500
w | 1 1,876 1,800 el —i 1 1,809 1,800 1,800 1,800
BwEEE 1 900 wEEE 1 1,200 1,500
MR RAERFT [HIERE Rl | ik 3 1,407 | * 1,000 PR — % 3 1,357 1,100 1,200 1,300
BwEEE 3 500 wEkEE| 3 700 1,000
EE — % 4 1,876 1,800 | FORUF#D| —fi% 2 904 900 900 900
BEEE 4 900 wEEE 2 600 700
®H | 3 1,407 1,400 el —i 2 904 900 900 900
BwEEE 3 700 wEEE 2 700 800
ERIRE | — - wERsoEEs] JERMAE | —i% | 0.75 508 300 400 500
AR GRE K - A OIFNEY BEREE] 0. 200 300
R (R | mp | —p 3 1,407 | * 1,200
SN — A -
FTHEE) HERER 3 600
e | ik 4 1,876 1,800
— Emﬁ: ! 900 Ep27F1A1HEL
w’H | 3 1,407 1,400
BwEEE 3 700
REREE| —i% - ERHOIBIEY
AR GRE K - EAHOIEEY
W2AERE I [ e | 3 1,173 | * 900 R — 3 1,131 900 1,000 1,100
SN — A -
LA A BwEEE 3 450 HwEEE| 3 600 800
T | ik 4 1,564 1,500 | FORUFR| —fik 2 754 700 700 700
BEEE 4 750 BwEEE 2 400 500
L 3 3 1,173 1,100 il —i 2 754 700 700 700
BwEEE 3 550 BwEEE 2 600 600
R —i - wRsossms] REME | —#& | 0.75 282 200 200 200
AR GRE K - R OIFNEL BeREIE| 0.75 100 100
LR K R T w’%ﬁ“—;{?ﬁg%"g PRl 3 1,642 | 1,200 Rl k| 3 1,583 1,300 1,400 1,500
TN 3 600 BwEEE 3 900 1,200
4% 4 2,189 2,100 | FEOROTFED|] A% 2 1,055 1,000 1,000 1,000
4 1,050 BwEREE 2 600 800
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BOAT % E
L R R AT ﬁéﬂiﬁ!ﬂ@; wmo| | 3 1,642 1,600 I LAEE 1,055 1,000 1,000 1,000
PN BEEK 3 800 HEKER| 2 800 900
mEEE | A% - wRsnmes| AEE R % | 0. 395 300 300 300
HEkE - ERAHOIEIEY HERE 4] 0.75 200 200
ﬁéﬂiﬁ”ﬁ{ FRl | 3 1173 | * 900 L) i 3 1,131 900 1,000 1,100
VLA ’ BEEK 3 450 HEKER| 3 600 800
EEC W 4 1,564 1,500 | FOROFRO| ik 2 754 700 700 700
BEEK 4 750 HERER| 2 400 500
wiH | k& 3 1,173 1,100 B —f% 2 754 700 700 700
BEEK 3 550 HERER| 2 600 600
W — % - wRsosaas| ERER | ik 5 282 200 200 200
B GRE K - ERHOIHIEY HEREK| 0. 100 100
EAAVIES FEE | R 3 938 | * 700 R — % 3 904 700 800 900
BEEK 3 350 HERER| 3 500 700
EE? —f 4 1,251 1,200 | F#OROFRO| —fi% 2 603 600 600 600
BEEK 4 600 HERER| 2 400 500
wH | 3 938 900 I —% 2 603 600 600 600
BEEK 3 450 HERER| 2 500 500
WEE % - wRsosEas| ERMEME | % |o. 226 200 200 200
B GRE K - ERHOIHIEY HERER| 0.75 100 100
o PR | R 3 938 | * 700 BRI — % 3 904 700 800 900
BEEK 3 350 HERER| 3 500 700
T | R 4 1,251 1,200 | FHOROFHD|  —fi% 2 603 600 600 600
BEEK 4 600 wEEK 2 400 500
w’H | 3 938 900 &I —f& 2 603 600 600 600
BwEEE 3 450 wEEE 2 500 500
WA | — A% - wERsoEEsl JERME | —i% | 0.75 226 200 200 200
R GRE K - ERHOIHIRY e K| 0.75 100 100
e KRR (1= PR R 3 2,815 | * 2,200 PR — 3 2,714 2,300 2,500 2,700
BwEEK 3 1,100 MKl 3 1,600 2,100
T | R 4 3,753 3,700 | FOrOFHE| —f% 2 1,809 1,800 1,800 1,800
BEEL 4 1,850 wEEE 2 1,200 1,500
wIH | i 3 2,815 2,800 &I —f% 2 1,809 1,800 1,800 1,800
BwEEK 3 1,400 wEEK 2 1,500 1,600
WA — i - wERoEEsl JERME | —i% | 0.75 678 600 600 600
R GRE K - ERHOIHIRY e K| 0.75 400 500
H2ERE BRI 3 3 1,407 | * 1,000 PR — % 3 1,357 1,100 1,200 1,300
BwEEE 3 500 K 3 700 1,000
EE — % 4 1,876 1,800 | FORUF#HD| —fi% 2 904 900 900 900
BEEE 4 900 wEkEE 2 600 700
®’H | K 3 1,407 1,400 el —i 2 904 900 900 900
BwEEE 3 700 wEkEE 2 700 800
ERIRE | — - wRsosEs] JERMAE | —i% | o. 339 300 300 300
AR GRE K - A OIFNEY ek K| 0.75 200 200
fns= FET | i 3 1,407 | * 1,000 “FHil —fix 3 1,357 1,100 1,200 1,300
BwEEE 3 500 wEkEE| 3 700 1,000
F4 —i 4 1,876 1,800 | FORUF#HD| —fik 2 904 900 900 900
BEEE 4 900 wEEE 2 600 700
®’H | K 3 1,407 1,400 el —i 2 904 900 900 900
BwEEE 3 700 wEkEE 2 700 800
RERAEE | — i - wRsosEs] JERMAE | —i% | o. 339 300 300 300
AR GRE K - EAHOIRNEY AR E| 0.75 200 200
PR K AR T | 1SR R | 3 1,876 | * 1,400 Eiil —i 3 1,809 1,500 1,600 1,800
wEEE 3 700 BwEEE 3 1,000 1,400
T | ik 4 2,502 2500 | FROROF#D| —i 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 BwEEE 2 800 1,000
®H | K 3 1,876 1,800 il —i 2 1,206 1,200 1,200 1,200
BwEEE 3 900 BwEEE 2 1,000 1,100
e - wAsossms] EREME | —& | 0.75 452 400 400 400
AR GRE K - EFHOIRNEY AR E| 0.75 200 300
ot R | 3 2,815 | * 2,200 Eiil —i 3 2,714 2,300 2,500 2,700
wEEE 3 1,100 HwEEE| 3 1,600 2,100
T | ik 4 3,753 3,700 | FROROF#D| —i% 2 1,809 1,800 1,800 1,800
BEEE 4 1,850 BwEEE 2 1,200 1,500
®H | K 3 2,815 2,800 il —i 2 1,809 1,800 1,800 1,800
BwEEE 3 1,400 BwEEK| 2 1,500 1,600
WA - wRsosEias| JERMEE | ik |o. 678 600 600 600
- EREOIEIEY BEREE| 0.75 400 500
W (RRMEM) | 2Pl 3 4,692 | * 3,700 i i 3 4,524 3,900 4,200 4,500
3 1,850 BwEEE 3 2,700 3,600
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S A 5

BOAT % E
TR XA T s GRER) | 14 M 4 6,256 6,200 | FOROFERD| % 2 3,016 3,000 3,000 3,000
BEEKl 4 3,100 HEKER| 2 2,000 2,500
TR 2 3,128 3100 | “FH#&KMH M 2 3,016 3,000 3,000 3,000
BEEKl 2 1,550 HEKER| 2 2,000 2,500
AR i 3 4,692 4600 | thH M 2 3,016 3,000 3,000 3,000
BEEK 3 2,300 HEKER| 2 2,500 2,700
WEE i - wRsosEiay| 5 R x| 0. 1,131 900 1,000 1,100
B GRE K - ERHOIHIEY HERER| 0.75 600 800
EREGERE | AT | % 3 1,642 | * 1,200 BRI — % 3 1,583 1,300 1,400 1,500
BEEK 3 600 HERER| 3 900 1,200
EE? —f 4 2,189 2,100 | FEOROFED| —fiE 2 1,055 1,000 1,000 1,000
BEEKl 4 1,050 HERER| 2 600 800
THEME| % 2 1,094 1,000 | P AR — 2 1,055 1,000 1,000 1,000
BEEK 2 500 HERER| 2 600 800
RARE| —% 3 1,642 1,600 | tRH&RH —fix 2 1,055 1,000 1,000 1,000
BEEK 3 800 HERER| 2 800 900
WEE % - wRsosaas| ERER | ik 5 395 300 300 300
B GRE K - ERHOIHIEY HERER| 0. 200 200
PR | R 1 373 300 BRI — % 1 359 300 300 300
BEEK 1 150 HERER 1 200 200
EE? —fi 1 373 300 ERT: — 1 359 300 300 300
BEEK 1 150 HERER 1 200 200
AR —i% 1 373 300 - H AL —fix 1 359 300 300 300
BEEK 1 150 Kl 1 200 200
kR —f% 1 373 300 | PRAKHH —fix 1 359 300 300 300
BEEK 1 150 wEEEl 1 200 200
HHEXEESA |HIESR PR R 3 1,407 | * 1,000 BRI —fix 3 1,357 1,100 1,200 1,300
BwEEK 3 500 MKl 3 700 1,000
4 — 4 1,876 1,800 | FORUF#HD| —fi% 2 904 900 900 900
BEEK 4 900 wEEE 2 600 700
w’H | 3 1,407 1,400 &I —f% 2 904 900 900 900
BwEEK 3 700 wEEE 2 700 800
WERAE | — A% - wERoEEs] JERME | —i% | 0.75 339 300 300 300
R GRE K - ERHOIHIRY e K| 0.75 200 200
oM PR R 3 1,876 | * 1,400 BRI —fix 3 1,809 1,500 1,600 1,800
BwEEE 3 700 MKl 3 1,000 1,400
EE —i 4 2,502 2,500 | FEOROFED|] —f% 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 wEEE 2 800 1,000
w’H | 3 1,876 1,800 el —i 2 1,206 1,200 1,200 1,200
BwEEE 3 900 wEkEE 2 1,000 1,100
RERAEE | — i - wERsoEEsl JERMAE | —i#% | 0.75 452 400 400 400
AR GRE K - A OIFNEY ek K| 0.75 200 300
HIEARE Rl | ik 3 703 | % 500 PR — % 3 678 500 500 600
BwEEE 3 250 wEkEE| 3 300 400
EE — % 4 938 900 | F#ORUF#®| —fi% 2 452 400 400 400
BEEE 4 450 wEEE 2 200 300
w | 3 703 700 el —i 2 452 400 400 400
BwEEE 3 350 wEEE 2 300 300
ERIRE | — - wERsosEs] JERMAE | —i% | o. 169 100 100 100
AR GRE K - A OIFNEY ek K| 0.75 100 100
fns= FaT | ik 3 1,876 | * 1,400 ERil] —fix 3 1,809 1,500 1,600 1,800
wEEE 3 700 HwEEE| 3 1,000 1,400
T | ik 4 2,502 2500 | FRORUF#D| —i% 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 BwEEE 2 800 1,000
®H | K 3 1,876 1,800 il —i 2 1,206 1,200 1,200 1,200
BwEEE 3 900 BwEEE 2 1,000 1,100
RERRE | R - wRsossEs] JERMAE | —i% | o. 452 400 400 400
AR GRE K - EAHOIRNEY AR E| 0.75 200 300
LRI —LWED| R | R 3 3,284 | * 2,500 il —i 3 3,166 2,700 2,900 3,100
BwEEE 3 1,250 HwEEE| 3 1,800 2,400
T | ik 4 4,379 4300 | FRORUF#D| —i 2 2,111 2,100 2,100 2,100
BEEE 4 2,150 BwEEE 2 1,400 1,700
®H | K 3 3,284 3,200 il —i 2 2,111 2,100 2,100 2,100
BwEEE 3 1,600 BwEEE 2 1,700 1,900
R —i - wRsossms] REME | —#& | 0.75 791 700 700 700
AR GRE K - R OIFNEL BEREE] 0. 400 500
ﬁ&%}&g&%‘ FR 1 1,004 | * 800 R — 1 1,055 800 900 1,000
() 1 400 BwEEE 1 600 800
4% 1 1,094 1,000 4% i 1 1,055 1,000 1,000 1,000
1 500 BwEEE 1 600 800
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S A 5

BOAT % E
D7 X BRI ’ﬁ{i%}ig%&g 2 B 1 1,094 1,000 e i 1 1,055 1,000 1,000 1,000
N b BEEKl 1 500 BEKER 1 600 800
TR KRR T | B 1R ERiil M 3 2,346 | * 1,800 BRI M 3 2,262 1,900 2,000 2,200
BEEK 3 900 HEKER| 3 1,300 1,700
P M 4 3,128 3,100 | FOROFRE| % 2 1,508 1,500 1,500 1,500
BEEK 4 1,550 HEKER| 2 1,000 1,200
e} M 3 2,346 2,300 e} M 2 1,508 1,500 1,500 1,500
BEEK 3 1,150 HERER| 2 1,200 1,300
W — % - wRsosaay| ERER | ik 565 500 500 500
B GRE K - ERHOIHIEY HERER| 0.75 300 400
FoERE PR | 3 1,876 | * 1,400 BRI — % 3 1,809 1,500 1,600 1,800
BEEK 3 700 HERER| 3 1,000 1,400
EE? —f 4 2,502 2,500 | FEOROFED| —fiE 2 1,206 1,200 1,200 1,200
BEEK 4 1,250 HERER| 2 800 1,000
wH | % 3 1,876 1,800 i} —% 2 1,206 1,200 1,200 1,200
BEEK 3 900 HERER| 2 1,000 1,100
WEE % - wRsosaas| ERER | ik 5 452 400 400 400
B GRE K - ERHOIHIEY HERER| 0. 200 300
EAAVIES PR | R 3 2,111 | * 1,600 BRI — % 3 2,035 1,700 1,800 2,000
BEEK 3 800 HERER| 3 1,200 1,600
EE? —f 4 2,815 2,800 | FEOROFED| —fiE 2 1,357 1,300 1,300 1,300
BEEKl 4 1,400 HERER| 2 900 1,100
wIH | i 3 2,111 2,100 &I —f% 2 1,357 1,300 1,300 1,300
BwEEK 3 1,050 wEEK 2 1,100 1,200
WS —fi% - wRsosEas| ERMEME | ik | 0.75 508 400 400 500
R GRE K - ERHOIHIRY e K| 0.75 300 400
Hofn= PRl | 3 1,642 | * 1,200 BRI —fix 3 1,583 1,300 1,400 1,500
BwEEK 3 600 MKl 3 900 1,200
EE — 4 2,189 2,100 | FEOROFHRE| —f% 2 1,055 1,000 1,000 1,000
BEEK 4 1,050 wEEE 2 600 800
wIH | i 3 1,642 1,600 &I —f% 2 1,055 1,000 1,000 1,000
BwEEK 3 800 wEEE 2 800 900
WERAE | — A% - wERoEEs] JERME | —i% | 0.75 395 300 300 300
R GRE K - ERHOIHIRY e K| 0.75 200 200
KE PRl | 3 234 200 BRI —fix 3 226 200 200 200
BwEEE 3 100 MKl 3 100 100
F4 — % 4 312 300 | FEORUFHD| —fik 2 150 100 100 100
BEEE 4 150 wEEE 2 100 100
w’H | 3 234 200 el —i 2 150 100 100 100
BwEEE 3 100 wEkEE 2 100 100
ERIRE | — - wERsoEEsl JERMAE | —i#% | 0.75 56 100 100 100
AR GRE K - A OIFNEY ek E| 0.75 100 100
REECGERMM) | Fall | —R 3 5,161 | * 4,000 ERil] —fix 3 4,976 4,300 4,600 4,900
BwEEE 3 2,000 wEkEE| 3 2,900 3,900
EE — % 4 6,881 6,800 | FOROFHD| —f% 2 3,317 3,300 3,300 3,300
BEEE 4 3,400 wEEE 2 2,200 2,700
®H | 3 5,161 5,100 &I —i 2 3,317 3,300 3,300 3,300
BwEEE 3 2,550 wEEE 2 2,800 3,000
ERIRE | — - wERsoEEs] JERMAE | —i% | 0.75 1,244 1,200 1,200 1,200
AR GRE K - A OIFNEY ek E| 0.75 800 1,000
REE@EER) | PRl | iR 1 TAT | % 500 ERil] —fix 1 719 500 600 700
BEEE 1 250 BwEEE 1 400 500
Fth | 1 747 700 Pk —fix 1 719 700 700 700
BEEE 1 350 BwEEE 1 400 500
®H | K 1 747 700 il —i 1 719 700 700 700
BEEE 1 350 BwEEE 1 400 500
REECERER) | FEl | R 1 373 300 PRl —fix 1 359 300 300 400
BEEE 1 150 BwEEE 1 200 300
Fth | 1 373 300 Pk —fix 1 359 400 400 400
BEEE 1 150 BwEEE 1 200 300
®H | K 1 373 300 il —i 1 359 400 400 400
BEEE 1 150 BwEEE 1 200 300
AR RAERTT | 1R A= Rl ik 3 1,173 | * 900 il —i 3 1,131 900 1,000 1,100
BwEEE 3 450 HwEEE| 3 600 800
T | ik 4 1,564 1,500 | F#OROFHD| —fi% 2 754 700 700 700
BEEE 4 750 BwEEK| 2 400 500
&IH 3 1,173 1,100 &I — 2 754 700 700 700
3 550 BwEREE 2 600 600
I ] - mAsossEs] ERMEMAE | K | 0.75 282 200 200 200
- AR DIENE L AEREE 0. 100 100
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S A 5

BOAT % E
ARBIKRERTT | F2ER=E BRI M 3 1,407 | * 1,000 BRI M 3 1,357 1,100 1,200 1,300
BEEK 3 500 HEKER| 3 700 1,000
44 W 4 1,876 1,800 | F#OROFRO| ik 2 904 900 900 900
BEEEK 4 900 HEKER| 2 600 700
| M 3 1,407 1,400 ] M 2 904 900 900 900
BEEK 3 700 HEKER| 2 700 800
RS A% - wRsnEmes|  AEE R % | 0. 339 300 300 300
B GRE K - ERHOIHIEY HERER| 0.75 200 200
FBERE PR | 3 1,407 | * 1,000 BRI — % 3 1,357 1,100 1,200 1,300
BwEER 3 500 HERER| 3 700 1,000
EE? —f 4 1,876 1,800 | F#OROFHO| —fi% 2 904 900 900 900
BEEIK 4 900 HERER| 2 600 700
wH | 3 1,407 1,400 I —% 2 904 900 900 900
BwEEK 3 700 HERER| 2 700 800
W — % - wRrosaas| ERER | ik 339 300 300 300
B GRE K - ERHOIIIEY HERER| 0.75 200 200
FAERE PR | 3 2,111 | * 1,600 BRI — 3 2,035 1,700 1,800 2,000
BEEK 3 800 HERER| 3 1,200 1,600
EEC —f 4 2,815 2,800 | FEOROFHED| —fiF 2 1,357 1,300 1,300 1,300
BEEK 4 1,400 BakEkl 2 900 1,100
wH | 3 2,111 2,100 I —% 2 1,357 1,300 1,300 1,300
BwEER 3 1,050 BakEkl 2 1,100 1,200
WEEE| i - wagossias| FERMEAE | ik | 0.75 508 400 400 500
R GRE K - ERHOIHIRY #EHEIR| 0.75 300 400
AIES PR | R 3 1,876 | * 1,400 BRI —fix 3 1,809 1,500 1,600 1,800
BwEEE 3 700 MKl 3 1,000 1,400
Tk | —ik 4 2,502 2,500 | FEOROFEE|] —f% 2 1,206 1,200 1,200 1,200
BEEK 4 1,250 wEEE 2 800 1,000
wIH | i 3 1,876 1,800 &I —f% 2 1,206 1,200 1,200 1,200
BwEEK 3 900 wEEE 2 1,000 1,100
WS —fi% - wagossias| FERMEAE | —k | 0.75 452 400 400 400
R GRE K - ERHOIHIRY #EHEIR| 0.75 200 300
FHXRESHT |F1ERE PR R 3 1,407 | * 1,000 PR — 3 1,357 1,100 1,200 1,300
BwEEK 3 500 MKl 3 700 1,000
T | R 4 1,876 1,800 | FORUF#HD| —fi% 2 904 900 900 900
BEEK 4 900 wEEE 2 600 700
®H | K 3 1,407 1,400 &I —i 2 904 900 900 900
BwEEE 3 700 wEEE 2 700 800
RERAEE | — i - wERsosEs] JERMAE | —i% | o. 339 300 300 300
AR GRE K - A DIFNEY BGREE] 0. 200 200
H2ERE BRI 3 3 1,876 | * 1,400 PR — % 3 1,809 1,500 1,600 1,800
BwEEE 3 700 wEkEE| 3 1,000 1,400
T | ik 4 2,502 2,500 | FEOROFED|] —f% 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 wEkEE 2 800 1,000
w’H | 3 1,876 1,800 il —i 2 1,206 1,200 1,200 1,200
BwEEE 3 900 wEEE 2 1,000 1,100
RERAEE | — i - wRoEEsl JERMAE | —M#% | 0.75 452 400 400 400
AR GRE K - A DIFNEY ek K| 0.75 200 300
HIEARE BRI 3 3 1,407 | * 1,000 PR — % 3 1,357 1,100 1,200 1,300
BwEEE 3 500 wEkEE| 3 700 1,000
F4 — % 4 1,876 1,800 | FORUF#HD| —fi% 2 904 900 900 900
BEEE 4 900 BwEEE 2 600 700
®H | K 3 1,407 1,400 il —i 2 904 900 900 900
wEEE 3 700 BwEEE 2 700 800
R —i - wRsossEs] JERMAE | —i% | o. 339 300 300 300
AR GRE K - EFHOIRNEY BEREE| 0.75 200 200
H1fnE R R 3 1,173 | * 900 i — % 3 1,131 900 1,000 1,100
BwEEE 3 450 BwEEE 3 600 800
T | ik 4 1,564 1,500 | F#OROF%O| —fi% 2 754 700 700 700
BEEE 4 750 BwEEE 2 400 500
®H | K 3 1,173 1,100 il —i 2 754 700 700 700
wEEE 3 550 BwEEE 2 600 600
mEEE| —i - wRsossEs] JERMAE | —i% | o. 282 200 200 200
AR GRE K - EAHOIRNEY AR E| 0.75 100 100
H2fnE R R 3 1,173 | = 900 i — % 3 1,131 900 1,000 1,100
BwEEE 3 450 kK| 3 600 800
T 4 1,564 1,500 | F#OROTFRO| —f% 2 754 700 700 700
4 750 BwEREE 2 400 500
&IH 3 1,173 1,100 &I — 2 754 700 700 700
3 550 BwEREE 2 600 600
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S A 5

BOAT [
T X RAERPT |H2fE WEE i - wAsoEas] LR R i |0.75 282 200 200 200
HEkE - ERAEOIEIEY HERE 4] 0.75 100 100
Kz ERiil M 3 234 200 ERf M 3 226 200 200 200
BEEK 3 100 HEKER| 3 100 100
R0 M 4 312 300 | FEOROF#E|  —f% 2 150 100 100 100
BEEK 4 150 HEKER| 2 100 100
e} M 3 234 200 e} M 2 150 100 100 100
BEEK 3 100 HERER| 2 100 100
W — % - wRsosaay| ERER | ik 56 100 100 100
B GRE K - ERHOIHIEY HERER| 0.75 100 100
IR RAERPT | H1ERE PR | 3 L173 | * 900 PR — % 3 1,131 900 1,000 1,100
BEEK 3 450 HERER| 3 600 800
EE? —f 4 1,564 1,500 | F#OROFRO| —f% 2 754 700 700 700
BEEK 4 750 HERER| 2 400 500
wiH | k& 3 1,173 1,100 B —f% 2 754 700 700 700
BEEK 3 550 HERER| 2 600 600
WEE % - wRsosaas| ERER | ik 5 282 200 200 200
B GRE K - ERHOIHIEY HEREER| 0.7 100 100
Erk S5 PR | 3 1,642 | * 1,200 PR — % 3 1,583 1,300 1,400 1,500
BEEK 3 600 HERER| 3 900 1,200
EE? —f 4 2,189 2,100 | FEOROFED| —fiE 2 1,055 1,000 1,000 1,000
BEEK 4 1,050 HERER| 2 600 800
®wH | & 3 1,642 1,600 &I —f% 2 1,055 1,000 1,000 1,000
BwEEK 3 800 wEEK 2 800 900
WA | — A% - wERoEEs] JERME | —i% | 0.75 395 300 300 300
R GRE K - ERHOIHIRY e K| 0.75 200 200
HIEE PR R 3 1,642 | * 1,200 BRI —fix 3 1,583 1,300 1,400 1,500
BwEEK 3 600 MKl 3 900 1,200
4 — 4 2,189 2,100 | FEOROFHRE| —f% 2 1,055 1,000 1,000 1,000
BEEK 4 1,050 wEEE 2 600 800
®wH | & 3 1,642 1,600 &I —f% 2 1,055 1,000 1,000 1,000
BwEEK 3 800 wEEE 2 800 900
WERAE | — A% - wERoEEs] JERME | —i% | 0.75 395 300 300 300
R GRE K - ERHOIHIRY e K| 0.75 200 200
AR PR R 3 1,407 | * 1,000 BRI —fix 3 1,357 1,100 1,200 1,300
BwEEE 3 500 MKl 3 700 1,000
F4 —i 4 1,876 1,800 | FORUF#HD| —fi% 2 904 900 900 900
BEEE 4 900 wEEE 2 600 700
w’H | 3 1,407 1,400 el —i 2 904 900 900 900
BwEEE 3 700 wEkEE 2 700 800
ERIRE | — - wERsoEEsl JERMAE | —i#% | 0.75 339 300 300 300
AR GRE K - A OIFNEY ek K| 0.75 200 200
fns= Rl | ik 3 1,642 | * 1,200 ERil] —fix 3 1,583 1,300 1,400 1,500
BwEEE 3 600 wEkEE| 3 900 1,200
k| i 4 2,189 2,100 | FEOROFED| —f% 2 1,055 1,000 1,000 1,000
BEEE 4 1,050 wEEE 2 600 800
w | 3 1,642 1,600 el —i 2 1,055 1,000 1,000 1,000
BwEEE 3 800 wEEE 2 800 900
ERIRE | — - wERsosEs] JERMAE | —i% | o. 395 300 300 300
AR GRE K - A OIFNEY ek K| 0.75 200 200
KE FaT | ik 3 234 200 ERil] —fix 3 226 200 200 200
wEEE 3 100 HwEEE| 3 100 100
T | ik 4 312 300 | FRORVFHD| —i% 2 150 100 100 100
BEEE 4 150 BwEEE 2 100 100
®H | K 3 234 200 il —i 2 150 100 100 100
BwEEE 3 100 BwEEE 2 100 100
R —i - wanossEs] EREME | —& |o. 56 100 100 100
AR GRE K - EAHOIRNEY AR E| 0.75 100 100
L AR T | A5 1R AR Rl ik 3 1,642 1,600 Gl —i 3 1,583 1,500 1,500 1,500
BwEEE 3 800 HwEEE| 3 1,000 1,200
T | ik 4 2,189 2,100 | FRORUF#D| —i% 2 1,055 1,000 1,000 1,000
BEEE 4 1,050 BwEEE 2 600 800
®H | K 3 1,642 1,600 il —i 2 1,055 1,000 1,000 1,000
BwEEE 3 800 BwEEE 2 800 900
R —i - wRsossms] REME | —#& | 0.75 395 300 300 300
AR GRE K - R OIFNEL BeREIE| 0.75 200 200
H2fERE GRill 3 1,642 1,600 GRiil — % 3 1,583 1,500 1,500 1,500
3 800 BwEEE 3 1,000 1,200
4% 4 2,189 2,100 | FEOROTFED|] A% 2 1,055 1,000 1,000 1,000
4 1,050 BwEREE 2 600 800
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S A 5

BOAT % E
S RIS | H520E A e} M 3 1,642 1,600 ] M 2 1,055 1,000 1,000 1,000
BEEKl 3 800 HEKER| 2 800 900
mEEE | A% - wRsnmes| AEE R % | 0. 395 300 300 300
HEkE - ERAHOIEIEY HERE 4] 0.75 200 200
HIERE ERiil M 3 1,173 1,100 R M 3 1,131 1,100 1,100 1,100
BEEK 3 550 HEKER| 3 700 900
EEC 83 4 1,564 1,500 | FOROFRO| ik 2 754 700 700 700
BEEK 4 750 HERER| 2 400 500
wiH | k& 3 1,173 1,100 B —f% 2 754 700 700 700
BEEK 3 550 HERER| 2 600 600
W — % - wRsosaas| ERER | ik 5 282 200 200 200
B GRE K - ERHOIHIEY HEREK| 0. 100 100
FAERE PR | 3 1,642 1,600 R — % 3 1,583 1,500 1,500 1,500
BEEK 3 800 HERER| 3 1,000 1,200
EE? —f 4 2,189 2,100 | FEOROFED| —fiE 2 1,055 1,000 1,000 1,000
BEEKl 4 1,050 HERER| 2 600 800
wH | 3 1,642 1,600 I —% 2 1,055 1,000 1,000 1,000
BEEK 3 800 HERER| 2 800 900
WEE % - wRsosEas| ERMEME | % |o. 395 300 300 300
B GRE K - ERHOIHIEY HERER| 0.75 200 200
FOHERE PR | 3 1,407 1,400 BRI — % 3 1,357 1,300 1,300 1,300
BEEK 3 700 HERER| 3 900 1,100
4 — 4 1,876 1,800 | FORUF#HD|  —fi% 2 904 900 900 900
BEEK 4 900 wEEK 2 600 700
w’H | 3 1,407 1,400 &I —f& 2 904 900 900 900
BwEEE 3 700 wEEE 2 700 800
WA | — A% - wERsoEEsl JERME | —i% | 0.75 339 300 300 300
R GRE K - ERHOIHIRY e K| 0.75 200 200
%i%ﬁ;ﬁggj P e |3 1,407 1,400 e | 3 1,357 1300 1300 1300
) BwEEK 3 700 MKl 3 900 1,100
4 — 4 1,876 1,800 | FORUF#HD|  —fi% 2 904 900 900 900
BEEL 4 900 wEEE 2 600 700
w’H | 3 1,407 1,400 &I —f% 2 904 900 900 900
BwEEK 3 700 wEEK 2 700 800
WA — i - wERoEEsl JERME | —i% | 0.75 339 300 300 300
R GRE K - ERHOIHIRY e K| 0.75 200 200
fibﬁiﬁg rE |~ |3 1,173 1,100 P —fx | 3 1,131 1,100 1,100 1,100
LA A BwEEE 3 550 K 3 700 900
F4 — % 4 1,564 1,500 | FOROFHD|  —fi% 2 754 700 700 700
BEEE 4 750 wEkEE 2 400 500
®’H | K 3 1,173 1,100 &I —i 2 754 700 700 700
BwEEE 3 550 wEkEE 2 600 600
ERIRE | — - wRsosEs] JERMAE | —i% | o. 282 200 200 200
AR GRE K - A OIFNEY ek K| 0.75 100 100
fns= FET | i 3 2,346 2,300 “FHil —fix 3 2,262 2,200 2,200 2,200
BwEEE 3 1,150 wEkEE| 3 1,500 1,800
EE —i 4 3,128 3100 | FEOROFHE| —f% 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 wEEE 2 1,000 1,200
w | 3 2,346 2,300 el —i 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 wEkEE 2 1,200 1,300
RERAEE | — i - wRsosEs] JERMAE | —i% | o. 565 500 500 500
AR GRE K - EAHOIRNEY AR E| 0.75 300 400
PEFPETfE A, Me CER) | PRl | 3 9,213 | * 6,900 Rl —fix 3 7,227 6,900 6,900 6,900 |#5 i
wEEE 3 3,450 BwEEE 3 4,600 5,700
T | ik 4 18,427 | * 12,000 T4 —fix 4 14,458 12,000 12,000 12,000 [##% &
BEEE 4 6,000 BwEEE 4 8,000 10,000
®H | K 3 18,427 | * 13,000 Feail —fix 3 14,460 13,000 13,000 13,000 [##% &
BwEEE 3 6,500 BwEEE 3 8,600 10,000
4 H — i - 41,460 | * 28,000 4H — % - 28,710 (HIBR) (HIBR) (HIBR)
AR GRE K - 14,000 heolnilES (BIRR) (BIRR)
WERRE | R - wRsossms] EREME | —& | 0.75 1,806 1,800 1,800 1,800
AR GRE K - EAHOIRNEY AR 0.75 1,200 1,500
W A (LR | R | iR 3 9,213 | * 6,900 il —i 3 7,227 6,900 6,900 6,900 |4imx =
BwEEE 3 3,450 HwEEE| 3 4,600 5,700
T | ik 4 22,114 | * 14,000 T4 —fix 4 17,350 14,000 14,000 14,000 [##4 &
BEEE 4 7,000 BwEEK] 4 9,300 11,000
3 22,110 | * 16,000 & — 3 17,352 16,000 16,000 16,000 |52 =
3 8,000 BwEEE 3 10,000 13,000
- 48,093 | * 33,000 4H — % - 33,210 (HIRR) (HIRR) (HlRR)
- 16,500 ARG (BIRR) (BIRR)

58
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BOAT % E
PEXEME TR A, B (A L) | e % - ERROIEES]  GE R AR % | 0.75 1,806 1,800 1,800 1,800
A GRE - ERHOIHIEY HEKER| 0.75 1,200 1,500
RS GREAIM) | ZFaT M 3 4,599 | * 3,700 BRI M 3 4,433 3,700 3,700 3,700 |#5x &
BEEKl 3 1,850 HEKER| 3 2,400 3,000
P M 4 6,132 6,100 | FOROFRE| % 2 2,955 2,900 2,900 2,900
BEEK 4 3,050 HEKER| 2 1,900 2,400
e} M 3 4,599 4,500 e} M 2 2,955 2,900 2,900 2,900
BEEK 3 2,250 HERER| 2 2,400 2,600
W — % - wRsosaay| ERER | ik 1,108 1,100 1,100 1,100
B GRE K - ERHOIHIEY BEREIR| 0.75 700 900
IE PR | R 3 2,111 | * 1,600 BRI — % 3 2,035 1,600 1,600 1,600 |4 % #&
BEEK 3 800 HERER| 3 1,000 1,300
EE? —f 4 2,815 2,800 | FEOROFHD| —fiF 2 1,357 1,300 1,300 1,300
BEEKl 4 1,400 HERER| 2 900 1,100
wH | % 3 2,111 2,100 i} —% 2 1,357 1,300 1,300 1,300
BEEK 3 1,050 HERER| 2 1,100 1,200
WM % - sAnoims] LRGN | & 5 508 500 500 500
B GRE K - ERHOIHIEY HERER| 0. 300 400
FIERE PR | 3 1,971 | * 1,500 BRI — % 3 1,900 1,500 1,500 1,500 |4 % #&
BEEK 3 750 HERER| 3 1,000 1,200
EE? —f 4 2,628 2,600 | FEOROFED| —fiE 2 1,266 1,200 1,200 1,200
BEEK 4 1,300 HERER| 2 800 1,000
wIH | i 3 1,971 1,900 &I —f% 2 1,266 1,200 1,200 1,200
BwEEK 3 950 wEEK 2 1,000 1,100
WS —fi% - wRsosEas| ERMEME | ik | 0.75 475 400 400 400
R GRE K - ERHOIHIRY e K| 0.75 200 300
ot PR R 3 1,688 | * 1,200 BRI — 3 1,628 1,200 1,200 1,200 | % B &
BwEEK 3 600 MKl 3 800 1,000
4 — 4 2,251 2,200 | FEOROFEE|] —f% 2 1,085 1,000 1,000 1,000
BEEK 4 1,100 wEEE 2 700 800
wIH | i 3 1,688 1,600 &I —f% 2 1,085 1,000 1,000 1,000
BwEEK 3 800 wEEE 2 800 900
BRI — - wRsosEas| ERMEME | % | 0.75 407 400 400 400
R GRE K - ERHOIHIRY e K| 0.75 200 300
H3EAE PR R 3 938 900 PR — 3 904 900 900 900
BwEEE 3 450 MKl 3 600 700
F4 —i 4 1,251 1,200 | FOROFHD|  —fi% 2 603 600 600 600
BEEE 4 600 wEEE 2 400 500
w’H | 3 938 900 el —i 2 603 600 600 600
BwEEE 3 450 wEkEE 2 500 500
ERIRE | — - wERsoEEsl JERMAE | —i#% | 0.75 226 200 200 200
AR GRE K - A OIFNEY ek K| 0.75 100 100
HireakRtE A (GER) Rl | i 3 20,750 | * 18,000 ERil] — % 3 13,468 13,000 13,000 13,000
Tk 514 4 41,492 | * 30,000 Fik fi% 4 26,945 26,000 26,000 26,000
w | 3 41,487 | * 38,000 kel —i 3 26,949 26,000 26,000 26,000
4H W - 93,356 | * 77,000 4H % - 58,500 (HIRR) (HIRR) (HIRR)
R —fi - wERsoEEs] JERMAE | —i% | 0.75 3,367 3,300 3,300 3,300
A=A (R | T W 3 20,750 | * 18,000 ERill L3 3 13,468 13,000 13,000 13,000
Fte | ik 4 49,790 | * 36,000 P — % 4 32,334 32,000 32,000 32,000
I W 3 49,790 | * 46,000 I % 3 32,339 32,000 32,000 32,000
4 H — i - 108,297 | * 90,000 4 H — i 69,300 (HIBR) (HIBR) (HIBR)
e i - ERBosEmEs] LR E Wz ]0.75 3,367 3,300 3,300 3,300
WA= Rl ik 3 2,346 | * 1,800 il —i 3 2,262 1,900 2,000 2,200
wEEE 3 900 BwEEE 3 1,300 1,700
T | ik 4 3,128 3,100 | FRORUF#D| —i% 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 BwEEE 2 1,000 1,200
®H | K 3 2,346 2,300 il —i 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 BwEEE 2 1,200 1,300
R —i - wAsossms] EREME | —& | 0.75 565 500 500 500
AR GRE K - EFHOIRNEY AR E| 0.75 300 400
ot Rl ik 3 2,815 | * 2,200 i —i 3 2,714 2,300 2,500 2,700
wEEE 3 1,100 HwEEE| 3 1,600 2,100
T | ik 4 3,753 3,700 | FROROF#D| —i% 2 1,809 1,800 1,800 1,800
BEEE 4 1,850 BwEEE 2 1,200 1,500
®H | K 3 2,815 2,800 il —i 2 1,809 1,800 1,800 1,800
BwEEE 3 1,400 BwEEK| 2 1,500 1,600
WA - mAsomas] FERMEAE | % |o. 678 600 600 600
- EREOIEIEY BEREE| 0.75 400 500
HoEAE - Rif 3 1,642 | = 1,200 GRiil — % 3 1,583 1,300 1,400 1,500
3 600 BwEEE 3 900 1,200
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S A 5

BOAT [
Akt | HSERE P M 4 2,189 2,100 | FEOROFED| % 2 1,055 1,000 1,000 1,000
BEEKl 4 1,050 HEKER| 2 600 800
il M 3 1,642 1,600 e} M 2 1,055 1,000 1,000 1,000
BEEK 3 800 HEEER 2 800 900
WEEE i - wAsoEmas] LR R i |0.75 395 300 300 300
HEkE - ERAEOIEIEY BERER | 0. 200 200
HOERE ERiil M 3 1,642 | * 1,200 BRI M 3 1,583 1,300 1,400 1,500
BEEK 3 600 HERER| 3 900 1,200
EEC —f 4 2,189 2,100 | FEOROFED| —fiE 2 1,055 1,000 1,000 1,000
BEEK 4 1,050 HERER| 2 600 800
wH | 3 1,642 1,600 I —% 2 1,055 1,000 1,000 1,000
BEEK 3 800 HERER| 2 800 900
WEE % - wRsosEmas| ERMEME | % |o. 395 300 300 300
B GRE K - ERHOIHIEY HERER| 0.75 200 200
IR EAHEM) | PR | 3 2,815 | * 2,200 BRI — % 3 2,714 2,300 2,500 2,700
BEEK 3 1,100 HEkER| 3 1,600 2,100
EE? —f 4 3,753 3,700 | FEOROFHD| —fiE 2 1,809 1,800 1,800 1,800
BEEK 4 1,850 HERER| 2 1,200 1,500
wH | % 3 2,815 2,800 I —% 2 1,809 1,800 1,800 1,800
BEEKl 3 1,400 HERER| 2 1,500 1,600
W — % - wRrosaas| ERER | ik 678 600 600 600
B GRE K - ERHOIHIEY HEREK| 0.75 400 500
HIRE AR | AT | A 3 1,876 | * 1,400 BRI —fix 3 1,809 1,500 1,600 1,800
BwEEK 3 700 MKl 3 1,000 1,400
Tk | R 4 2,502 2,500 | FEOROFERE|] —f% 2 1,206 1,200 1,200 1,200
BEEK 4 1,250 wEEE 2 800 1,000
wIH | i 3 1,876 1,800 &I —f% 2 1,206 1,200 1,200 1,200
BwEEK 3 900 wEEE 2 1,000 1,100
WS —fi% - wRrosEas| ERMEME | ik | 0.75 452 400 400 400
R GRE K - ERHOIHIRY e K| 0.75 200 300
Fofn= PRl | 3 1,407 | * 1,000 BRI —fix 3 1,357 1,100 1,200 1,300
BwEEK 3 500 MKl 3 700 1,000
EE — 4 1,876 1,800 | FORUF#HD| —fi% 2 904 900 900 900
BEEK 4 900 wEEK 2 600 700
w’H | 3 1,407 1,400 &I —f% 2 904 900 900 900
BwEEE 3 700 wEEE 2 700 800
ERIRE | — - wRsoEEs] JERMAE | —i% | o. 339 300 300 300
AR GRE K - A DIFNEY ek E| 0.75 200 200
TS (LM | Fall | —iR 3 3,753 | * 3,000 ERil] —fix 3 3,619 3,200 3,400 3,600
BwEEE 3 1,500 wEkEE| 3 2,200 2,900
EE — % 4 5,004 5000 | FEOROFHD| —f% 2 2,412 2,400 2,400 2,400
BEEE 4 2,500 wEkEE 2 1,600 2,000
®H | 3 3,753 3,700 &I —i 2 2,412 2,400 2,400 2,400
BwEEE 3 1,850 wEkEE 2 2,000 2,200
R — % - wRsoEEs] JERMAE | —i% | o. 904 900 900 900
AR GRE K - EAHOIFNEY BEREE] 0. 600 700
TEHEEOEERMM) | Pl | —R 3 1,876 | * 1,400 ERil] —fix 3 1,809 1,500 1,600 1,800
BwEEE 3 700 K 3 1,000 1,400
EE — % 4 2,502 2,500 | FEOROFED|] —f% 2 1,206 1,200 1,200 1,200
BEEE 4 1,250 wEkEE 2 800 1,000
w’H | 3 1,876 1,800 el —i 2 1,206 1,200 1,200 1,200
wEEE 3 900 BwEEE 2 1,000 1,100
e - wRsoEEsl FERMAE | —i#% | 0.75 452 400 400 400
AR GRE K - EAHOIRNEY AR E| 0.75 200 300
L1 SECIE FET | ik 3 3,753 3,700
BwEEE 3 1,850
e | ik 4 5,004 5,000
BEEE 4 2,500
w’H | 3 3,753 3,700 —i 1 890 800 800 800
BwEEE 3 1,850 BwEEE 1 800 800
REREE| —i% - ERHOIBIEY
HERER - ERKHOIBEY
B RRE Rl ik 1 1,055 | * 800 il —i 1 1,017 800 900 1,000
BEEE 1 400 BwEEE 1 600 800
Fth | 1 1,055 1,000 Pk —fix 1 1,017 1,000 1,000 1,000
BEEE 1 500 K1 600 800
&IH 1 1,055 1,000 &I — 1 1,017 1,000 1,000 1,000
1 500 BwEEE 1 600 800
TrAnHosE | | ik 1 156 100 i i 1 150 100 100 100
Tk M 1 156 100 KR M 1 150 100 100 100
&KH | K 1 156 100 &I — 1 150 100 100 100
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BOAT [
*&BH v s — A=V (ER) PRl M 3 38,463 | * 36,000 BRI M 3 24,966 24,000 24,000 24,000
T | ik 4 76,912 | * 72,000 ER3 — 4 49,947 49,000 49,000 49,000
] M 3 76,904 | * 72,000 ] M 3 49,954 49,000 49,000 49,000
AH | - 173,051 | * 162,000 4H —i - 109,800 (HIBR) (HIBR) (HIRR)
WEEE i - wRsosEiay| 5 R & |0.75 6,241 6,200 6,200 6,200
A= ChRE) | R | ik 3 38,463 | * 36,000 i i 3 24,966 24,000 24,000 24,000
K3 M 4 92,294 | * 86,000 Pk M 4 59,948 59,000 59,000 59,000
®KH | K 3 92,294 | * 86,000 | 3 3 59,941 59,000 59,000 59,000
2H | - 200,745 | * 187,000 4H —% - 127,800 (HIBR) (HIRR) (HIRR)
WG| —fi% - manossEs] WEREAE | — | 0.75 6,241 6,200 6,200 6,200
FOHERE PR | 3 1,876 | * 1,400 BRI — % 3 1,809 1,500 1,600 1,800
BEEK 3 700 HERER| 3 1,000 1,400
EE? —f 4 2,502 2,500 | FEOROFED| —fiE 2 1,206 1,200 1,200 1,200
BEEK 4 1,250 HERER| 2 800 1,000
wH | % 3 1,876 1,800 i} —% 2 1,206 1,200 1,200 1,200
BEEK 3 900 HERER| 2 1,000 1,100
WEE % - wRsossmas| ERMEME | & | 0.75 452 400 400 400
B GRE K - ERHOIHIEY HERER| 0. 200 300
HOERE PR | 3 1,876 | * 1,400 BRI — % 3 1,809 1,500 1,600 1,800
BEEK 3 700 HERER| 3 1,000 1,400
EE? —f 4 2,502 2,500 | FEOROFED| —fiF 2 1,206 1,200 1,200 1,200
BEEK 4 1,250 HERER| 2 800 1,000
®wH | & 3 1,876 1,800 &I —f% 2 1,206 1,200 1,200 1,200
BwEEK 3 900 wEEK 2 1,000 1,100
WS —fi% - wRsosEas| ERMEME | ik | 0.75 452 400 400 400
R GRE K - ERHOIHIRY e K| 0.75 200 300
HTHESE PR R 3 1,876 | * 1,400 BRI —fix 3 1,809 1,500 1,600 1,800
BwEEK 3 700 MKl 3 1,000 1,400
4 — 4 2,502 2,500 | FEOROFEE| —f% 2 1,206 1,200 1,200 1,200
BEEK 4 1,250 wEEE 2 800 1,000
®wH | & 3 1,876 1,800 &I —f% 2 1,206 1,200 1,200 1,200
BwEEK 3 900 wEEE 2 1,000 1,100
BRI — - wRsosEas| ERMEME | % | 0.75 452 400 400 400
R GRE K - ERHOIHIRY e K| 0.75 200 300
WIRE (ag | AT | 3 2,111 | = 1,600 ERill — i 3 2,035 1,700 1,800 2,000
AT 5% E) whrEk| 3 800 wEEE 3 1,200 1,600
EE —i 4 2,815 2,800 | FEOROFHD| —f% 2 1,357 1,300 1,300 1,300
BEEE 4 1,400 wEEE 2 900 1,100
w’H | 3 2,111 2,100 el —i 2 1,357 1,300 1,300 1,300
BwEEE 3 1,050 wEkEE 2 1,100 1,200
ERIRE | — - wERsoEEsl JERMAE | —i#% | 0.75 508 400 400 500
AR GRE K - A OIFNEY ek K| 0.75 300 400
1R (Eas | FET | K 3 1,173 | * 900 il — i 3 1,131 900 1,000 1,100
AL ) whEAk| 3 450 wEEAE| 3 600 800
EE — % 4 1,564 1,500 | FOROFHD|  —fi% 2 754 700 700 700
BEEE 4 750 wEEE 2 400 500
®H | 3 1,173 1,100 el —i 2 754 700 700 700
BwEEE 3 550 wEEE 2 600 600
ERIRE | — - wERsosEs] JERMAE | —i% | o. 282 200 200 200
AR GRE K - A OIFNEY ek K| 0.75 100 100
Fofn= FaT | ik 3 2,346 | * 1,800 ERil] —fix 3 2,262 1,900 2,000 2,200
wEEE 3 900 HwEEE| 3 1,300 1,700
T | ik 4 3,128 3,100 | FRORUF#D| —i% 2 1,508 1,500 1,500 1,500
BEEE 4 1,550 BwEEE 2 1,000 1,200
®H | K 3 2,346 2,300 il —i 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 BwEEE 2 1,200 1,300
R —i - wanossEs] EREME | —& |o. 565 500 500 500
AR GRE K - EAHOIRNEY AR E| 0.75 300 400
U == R | R 3 5,161 | * 4,000 PRl —fix 3 4,976 4,300 4,600 4,900
BwEEE 3 2,000 HwEEE| 3 2,900 3,900
T | ik 4 6,881 6,800 | FRORUF#D| —i% 2 3,317 3,300 3,300 3,300
BEEE 4 3,400 BwEEE 2 2,200 2,700
®H | K 3 5,161 5,100 il —i 2 3,317 3,300 3,300 3,300
BwEEE 3 2,550 BwEEE 2 2,800 3,000
BEEE | - wRsossms] REME | —#& | 0.75 1,244 1,200 1,200 1,200
AR GRE K - R OIFNEL BeREIE| 0.75 800 1,000
Un—HLER L 3 3,763 | * 3,000 i i 3 3,619 3,200 3,400 3,600
3 1,500 BwEEE 3 2,200 2,900
4% 4 5,004 5,000 4% i 4 4,825 4,800 4,800 4,800
4 2,500 BwEREE 4 3,200 4,000
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e W e
HRgE v — |V —P = e} M 3 3,753 3,700 ] M 3 3,619 3,600 3,600 3,600
BEEK 3 1,850 HEKER| 3 2,400 3,000
W i - wRsosEiay| 5 R M 904 900 900 900
A GRE K - ERHOIEIEY BEE k| 0.75 600 700
BRE(RRER) | 2H M 10 19,712 19,000 4H L5 10 19,012 19,000 19,000 19,000
BEEE 10 9,500 HEER| 10 12,000 15,000
JBRE GRRMEM) | ZFaT M 3 9,198 | * 7,300 BRI M 3 8,870 7,800 8,300 8,800
BEEK 3 3,650 HERER| 3 5,300 7,000
EEC —f 4 12,264 12,000 | FEOROFED| —fiE 2 5,913 5,900 5,900 5,900
BEEK 4 6,000 HERER| 2 3,900 4,900
wH | k& 3 9,198 9,100 B — % 2 5,913 5,900 5,900 5,900
BEEK 3 4,550 HERER| 2 5,000 5,400
WEE % - wRsosEmas| ERMEME | % |o. 2,217 2,100 2,100 2,200
B GRE K - ERHOIHIEY HERER| 0.75 1,400 1,800
(D& FIERE PR | 3 1,876 | * 1,200 BRI — % 3 1,809 1,200 1,200 1,200 |45 % f# &
BEEK 3 600 HEkER| 3 800 1,000
EE? —f 4 2,502 | * 2,400 | FEOROFED| —fiE 2 1,206 1,200 1,200 1,200
BEEIR 4 1,200 HERER| 2 800 1,000
wH | % 3 1,876 1,800 I —% 2 1,206 1,200 1,200 1,200
BEEK 3 900 HERER| 2 1,000 1,100
W — % - wRrosaas| ERER | ik 452 400 400 400
B GRE K - ERHOIHIEY BEKEE| 0.75 200 300
oM PRl | 3 1,642 | * 1,000 BRI — 3 1,583 1,000 1,000 1,000 | % B &
BwEEK 3 500 MKl 3 600 800
Tk | R 4 2,189 2,100 | FEOROFERE| —f% 2 1,055 1,000 1,000 1,000
BEEK 4 1,050 wEEE 2 600 800
wIH | i 3 1,642 1,600 &I —f% 2 1,055 1,000 1,000 1,000
BwEEK 3 800 wEEE 2 800 900
WERRE | — A% - wERoEEsl JERME | —i% | 0.75 395 300 300 300
R GRE K - ERHOIHIRY e K| 0.75 200 200
HIEE PRl | 3 2,346 | * 1,500 BRI — 3 2,262 1,500 1,500 1,500 | % B &
BwEEK 3 750 MKl 3 1,000 1,200
Tk | R 4 3,128 3100 | FOROFHRE| —f% 2 1,508 1,500 1,500 1,500
BEEK 4 1,550 wEEK 2 1,000 1,200
wIH | i 3 2,346 2,300 &I —f% 2 1,508 1,500 1,500 1,500
BwEEE 3 1,150 wEEE 2 1,200 1,300
ERIRE | — - wRsoEEs] JERMAE | —i% | o. 565 500 500 500
AR GRE K - A DIFNEY ek E| 0.75 300 400
L () 1[a] — i 2 4,692 4,600 1[a] —fix 2 4,524 4,500 4,500 4,500
T (RIR) U W 2 10,322 10,000 " fi% 2 9,952 9,900 9,900 9,900
T EE (FLAE) " — i 2 15,014 | * 14,000 " —fi% 2 14,476 14,000 14,000 14,000
T ANEI CF-R) Pl W 3 22,123 22,000 F Rl A% 3 22,123 22,000 22,000 22,000
Fte | ik 4 44,246 44,000 P — % 4 44,246 44,000 44,000 44,000
I W 4 58,995 58,000 I % 4 58,995 58,000 58,000 58,000
2R | - 111,600 111,000 4H — i - 111,600 111,000 111,000 111,000
WS % - ERBosEEs] LR E % 1 0.75 5,530 5,500 5,500 5,500
BN (AR | R | i 3 26,545 26,000 ERil] — % 3 26,545 26,000 26,000 26,000
Tk .14 4 53,099 53,000 Fik L3 4 53,099 53,000 53,000 53,000
" | 4 70,787 70,000 il —i 4 70,787 70,000 70,000 70,000
4H & - 134,100 134,000 4H % - 134,100 134,000 134,000 134,000
R — % - wERsoEEs] JERMAE | —i% | 0.75 6,636 6,600 6,600 6,600
KEA—/VCER) | & 3 13,820 13,000 LR} L3 3 10,840 10,000 10,000 10,000
BEEE 3 6,500 weEkl 3 7,600 8,800
Tk W 4 27,640 27,000 Pk L3 4 21,687 21,000 21,000 21,000
BEEE 4 13,500 wEEKl 4 16,000 18,000
| W 4 36,854 36,000 | ik 4 28,921 28,000 28,000 28,000
BEEE 4 18,000 wEEE 4 21,000 24,000
4 A W - 68,400 68,000 4H W - 53,100 (BIRR) (BIRR) (HIRR)
HERE K - 34,000 BekE R - (HIBR) (HIBR)
e i - ERBosEmEs] LR AR Wz 10.75 2,710 2,700 2,700 2,700
A GRE K - ERHOIEIEY kK| 0.75 2,200 2,400
KEA—L (LR | Rl M 3 13,820 13,000 LR} L3 3 10,840 10,000 10,000 10,000
BEEE 3 6,500 weEkl 3 7,600 8,800
Tk W 4 32,400 32,000 Pk L3 4 26,030 26,000 26,000 26,000
BEEE 4 16,000 wEEE 4 19,000 22,000
G| W 4 43,200 43,000 | ik 4 34,702 34,000 34,000 34,000
BEEEK 4 21,500 HEKER| 4 25,000 29,000
4 H M - 79,200 79,000 4H L5 - 63,000 (BIRR) (BIRR) (HIRR)
A GRE K - 39,500 B GRE R - (HIRR) (HIFR)
e i - wRsosEiay| 5 R i |0.75 2,710 2,700 2,700 2,700
A GRE K - ERHOIEIEY HEKER| 0.75 2,200 2,400
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BOAT % E
“("é%’%ﬁﬁ?g’%ﬁ R iz 3 8,445 8,400 R Rt 3 8,143 8,100 8,100 8,100
IS GERD) - wEEK 3 4,200 HEKER| 3 5,500 6,800
P M 4 11,260 11,000 Pk M 4 10,857 10,000 10,000 10,000
wEREK 4 5,500 HEKER| 4 7,000 8,500
i} M 4 11,260 11,000 ] M 4 10,857 10,000 10,000 10,000
BEREK 4 5,500 HEKER| 4 7,000 8,500
4 H M - 27,360 27,000 4H L5 - 25,290 (BIRR) (BIRR) (HIRR)
B GRE K - 13,500 TGk K - (HIRR) (HIRR)
W — % - wRsosaay| ERER | ik 5 2,035 2,000 2,000 2,000
B GRE K - ERHOIHIEY HERER| 0.75 1,500 1,700
E“é%ffﬁgj;ﬁg R | 3 8,445 8,400 FiT i 3 8,143 8,100 8,100 8,100
LIk (4R mﬁ Mk 3 4,200 HERER| 3 5,500 6,800
EE? —fi 4 13,514 13,000 EE? — 4 13,032 13,000 13,000 13,000
BEEK 4 6,500 HEER| 4 8,600 10,000
wH | R 4 13,514 13,000 B —f% 4 13,032 13,000 13,000 13,000
BEEIK 4 6,500 HEKER| 4 8,600 10,000
2H | - 30,960 30,000 4H —% - 30,690 (HIBR) (HIRR) (HIRR)
B GRE K - 15,000 TGk K - (HIRR) (HIRR)
WEE % - wasostias| FERMEAE | & |0.75 2,035 2,000 2,000 2,000
B GRE K - ERHOIHIEY HERER| 0.75 1,500 1,700
BIBBROA— | e | 3 4,200 4,200 FiT i 3 4,072 4,000 4,000 4,000
(BEFIH COF -
m) Mk 3 2,100 HERER| 3 2,700 3,300
i — i 4 5,500 5,500 ERT: —fix 4 5,429 5,400 5,400 5,400
BEEK 4 2,750 weEEE 4 3,600 4,500
wIH | i 4 5,500 5,500 &I —f& 4 5,429 5,400 5,400 5,400
B 4 2,750 weEEE 4 3,600 4,500
4 H — i - 13,500 13,500 A H —f% - 12,645 (HIBR) (HIBR) (HIBR)
R GRE K - 6,750 BGRE K - (HIRR) (HIRR)
WS —fi% - wRsosaiay| ERMEAE | i | 0.75 1,017 1,000 1,000 1,000
R GRE K - ERH O3B #EHEIR| 0.75 700 800
@;’i@ﬁ%?ﬁu R | 3 4,200 4,200 “Fl —f 3 4,072 4,000 4,000 4,000
#)) BwEEK 3 2,100 MKl 3 2,700 3,300
i — i 4 6,500 6,500 ERT: —fix 4 6,516 6,500 6,500 6,500
B 4 3,250 weREE 4 4,300 5,400
wIH | i 4 6,500 6,500 &I —f% 4 6,516 6,500 6,500 6,500
B 4 3,250 weEEE 4 4,300 5,400
4 H — i - 15,000 15,000 A H — i - 15,345 (HIBR) (HIBR) (HIBR)
AR GRE K - 7,500 ARG (K - (HIRR) (HIRR)
WERRRE | — A% - wERsoEEsl JERMAE | —i% | 0.75 1,017 1,000 1,000 1,000
ek - A DIFNEY ek K| 0.75 700 800
BB AR—L |9~ 13MF|  —fi% 1 74T | % 500 9~ 13 —i 1 719 500 600 700
(FTERROFIRD [ 13~o0ms| —p 1 747 700 | 13~228 -#% 1 719 700 700 700
FOZHICER) | R | —ik 3 4,391 4,300 PRl —fix 3 4,391 4,300 4,300 4,300
BwEEK] 3 2,150 wEkEE| 3 2,800 3,500
F4 — i 4 8,785 8,700 Tt —fix 4 8,785 8,700 8,700 8,700
BEEE 4 4,350 wEEE 4 5,800 7,200
we | 4 11,716 11,000 el —i 4 11,716 11,000 11,000 11,000
BEEE 4 5,500 wEEE 4 7,300 9,100
2R | - 21,600 21,000 4H —i - 21,600 21,000 21,000 21,000
ek - 10,500 ARG (K - 14,000 17,000
WERRRE | — A% - wERsoEEsl JERMAE | —i% | 0.75 1,097 1,000 1,000 1,000
AR GRE K - EAHOIRNEY AR E| 0.75 700 800
FOZHL (RS | R | R 3 4,829 4,800 Gl —i 3 4,829 4,800 4,800 4,800
wEEE 3 2,400 BwEEE 3 3,200 4,000
Fth | 4 9,656 9,600 Pk —fix 4 9,656 9,600 9,600 9,600
BEEE 4 4,800 BwEEE 4 6,400 8,000
®H | K 4 12,872 12,000 il —i 4 12,872 12,000 12,000 12,000
BEEE 4 6,000 BwEEE 4 8,000 10,000
EH | i - 23,760 23,000 4H —i - 23,760 23,000 23,000 23,000
AR GRE K - 11,500 ARG - 15,000 19,000
R —i - wRnossms] REME | —& | 0.75 1,207 1,200 1,200 1,200
AR GRE K - EAHOIRNEY AR 0.75 800 1,000
FWI2CER) | ARl | ik 3 1,808 1,800 Gl —i 3 1,808 1,800 1,800 1,800
BwEEE 3 900 HwEEE| 3 1,200 1,500
Fth | 4 3,617 3,600 Pk —fix 4 3,617 3,600 3,600 3,600
BEEE 4 1,800 BwEEK] 4 2,400 3,000
4 4,824 4,800 & — 4 4,824 4,800 4,800 4,800
4 2,400 BwEREE 4 3,200 4,000
- 9,180 9,100 4H — - 9,180 9,100 9,100 9,100
- 4,550 ARG - 6,000 7,500
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S A 5

BOAT [
B ESS JWZIB2 CER) | ekt —fi% - wAsoEas] LR R i |0.75 452 400 400 400
HEkE - ERAEOIEIEY EkE | 0.75 300 300
FosH2 (LRR) | R M 3 1,988 1,900 ERf M 3 1,988 1,900 1,900 1,900
BEEK 3 950 HEEER 3 1,200 1,500
P M 4 3,976 3,900 KR M 4 3,976 3,900 3,900 3,900
BEEK 4 1,950 HEREER 4 2,600 3,200
e} M 4 5,300 5,300 e} M 4 5,300 5,300 5,300 5,300
BEEK 4 2,650 HEER| 4 3,500 4,400
2R | ' - 9,990 9,900 4H —% - 9,990 9,900 9,900 9,900
B GRE K - 4,950 TGk K - 6,600 8,200
W — % - wRsosaas| ERER | ik 5 497 400 400 400
B GRE K - ERHOIHIEY HEREK| 0.75 300 300
JWIS3CER) | PRl | ik 3 2,066 2,000 PRl — % 3 2,066 2,000 2,000 2,000
BEEK 3 1,000 HERER| 3 1,300 1,600
EE? —fi 4 4,134 4,100 ERT: — 4 4,134 4,100 4,100 4,100
BEEK 4 2,050 HEKER| 4 2,700 3,400
wiH | k& 4 5,513 5,500 B —f& 4 5,513 5,500 5,500 5,500
BEEK 4 2,750 HEER| 4 3,600 4,500
2R | ' - 10,440 10,000 4H —% - 10,440 10,000 10,000 10,000
B GRE K - 5,000 TGk K - 6,600 8,300
W - sAnosims] LRGN | & 5 516 500 500 500
B GRE K - ERHOIHIEY HEREK| 0.75 300 400
FOIEHB(CERBY | FET | iR 3 2,272 2,200 BRI —fix 3 2,272 2,200 2,200 2,200
BwEEK 3 1,100 MKl 3 1,400 1,800
F4 — i 4 4,544 4,500 ERT: —fix 4 4,544 4,500 4,500 4,500
BEEK 4 2,250 weEEE 4 3,000 3,700
wIH | i 4 6,057 6,000 &I —f% 4 6,057 6,000 6,000 6,000
BEEK 4 3,000 MK 4 4,000 5,000
2R | - 11,430 11,000 4H —% - 11,430 11,000 11,000 11,000
R GRE K - 5,500 BGRE K - 7,300 9,100
WERRE | — A% - wERsoEEs] JERME | —i% | 0.75 568 500 500 500
R GRE K - ERHOIHIRY e K| 0.75 300 400
FHAfE fide PRl | 3 8,914 8,900 BRI —fix 3 8,595 8,500 8,500 8,500
BwEEK 3 4,450 MKl 3 5,800 7,100
Tk | R 4 11,886 11,000 | FOROFHD| —fik 2 5,730 5,500 5,600 5,700
BEEK 4 5,500 wEEE 2 3,700 4,700
®H | K 3 8,914 8,900 il —i 2 5,730 5,700 5,700 5,700
BwEEE 3 4,450 wEEE 2 4,800 5,200
R — % - wERsosEs] JERMAE | —i% | o. 2,148 2,100 2,100 2,100
AR GRE K - A DIFNEY BGREE] 0. 1,500 1,800
TS == BRI 3 3 5,630 5,600 ERil] —fix 3 5,428 5,400 5,400 5,400
BwEEE 3 2,800 wEkEE| 3 3,600 4,500
EE — % 4 7,507 7,500 | FEOROFEE|] —f% 2 3,619 3,600 3,600 3,600
BEEE 4 3,750 wEkEE 2 2,400 3,000
w’H | 3 5,630 5,600 il —i 2 3,619 3,600 3,600 3,600
BwEEE 3 2,800 wEEE 2 3,000 3,300
ERIRE | — - wRoEEsl JERMAE | —M#% | 0.75 1,357 1,300 1,300 1,300
AR GRE K - A DIFNEY ek E| 0.75 900 1,100
1= BRI 3 3 4,692 4,600 ERil] —fix 3 4,524 4,500 4,500 4,500
BwEEE 3 2,300 wEkEE| 3 3,000 3,700
F4 — i 4 6,256 6,200 4 —fix 4 6,032 6,000 6,000 6,000
BEEE 4 3,100 BwEEE 4 4,000 5,000
®H | K 3 4,692 4,600 il —i 3 4,524 4,500 4,500 4,500
wEEE 3 2,300 BwEEE 3 3,000 3,700
e - wRsossEs] JERMAE | —i% | o. 1,131 1,100 1,100 1,100
AR GRE K - EFHOIRNEY BEREE| 0.75 800 900
H2TEBRE R R 3 4,692 4,600 PRl —fix 3 4,524 4,500 4,500 4,500
BwEEE 3 2,300 BwEEE 3 3,000 3,700
Fth | 4 6,256 6,200 Pk —fix 4 6,032 6,000 6,000 6,000
BEEE 4 3,100 BwEEE 4 4,000 5,000
®H | K 3 4,692 4,600 il —i 3 4,524 4,500 4,500 4,500
wEEE 3 2,300 HwEEE| 3 3,000 3,700
e - wRsossEs] JERMAE | —i% | o. 1,131 1,100 1,100 1,100
AR GRE K - EAHOIRNEY AR E| 0.75 800 900
H3ERRE Rl ik 3 5,161 5,100 Gl —i 3 4,976 4,900 4,900 4,900
BwEEE 3 2,550 kK| 3 3,300 4,100
4% 4 6,881 6,800 4% i 4 6,635 6,600 6,600 6,600
4 3,400 BwEREE 4 4,400 5,500
&IH 3 5,161 5,100 &I — 3 4,976 4,900 4,900 4,900
3 2,550 BwEEE 3 3,300 4,100
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S A 5

BOAT % E
R F3FERE WEE i - @wRRosEmEs]  JER R i |0.75 1,244 1,200 1,200 1,200
A GRE - ERHOIHIEY HEKER| 0.75 900 1,000
TARE BRI M 3 5,161 5,100 BRI M 3 4,976 4,900 4,900 4,900
waEEK 3 2,550 HEKER| 3 3,300 4,100
P M 4 6,881 6,800 Fik M 4 6,635 6,600 6,600 6,600
BEREK 4 3,400 HEKER| 4 4,400 5,500
| M 3 5,161 5,100 e} M 3 4,976 4,900 4,900 4,900
BEEK 3 2,550 HERER| 3 3,300 4,100
W — % - wAsosatay| ERMEE | M [ 0.75 1,244 1,200 1,200 1,200
B GRE K - ERHOIHIEY HERER| 0.75 900 1,000
KHBARAKE | A= PR | R 3 3,167 | * 2,500 BRI — % 3 3,053 2,600 2,800 3,000
BwEER 3 1,250 HERER| 3 1,800 2,400
EE? —fi 4 4,222 4,200 EE? — 4 4,071 4,000 4,000 4,000
waEEK 4 2,100 BakEkl 4 2,700 3,300
W — % - wasostias| FERMEHE | & | 0.75 763 700 700 700
B GRE K - ERHOIIIEY BEKEK| 0.75 400 500
MOEARAE |HE PR | 3 5,630 5,600 BRI — 3 5,428 5,400 5,400 5,400
BEEK 3 2,800 HERER| 3 3,600 4,500
EEC — 4 7,507 7,500 ERT: —fix 4 7,238 7,200 7,200 7,200
BEEK 4 3,750 HEER| 4 4,900 6,000
W — % - wRsosaiay| ERMEE | M [ 0.75 1,357 1,300 1,300 1,300
B GRE K - ERHOIHIEY HEREK| 0.75 900 1,100
fAIEREEE | RE PR R 3 703 700 PR — 3 678 600 600 600
BwEEK 3 350 MKl 3 400 500
T | R 4 938 900 44 — 4 904 900 900 900
B 4 450 weEEE 4 600 700
WEREE| i - wagossias| FERMEAE | ik | 0.75 169 100 100 100
R GRE K - ERHOIHIRY e K| 0.75 100 100
)1 EEGE Srelk | SR PR R 3 1,407 1,400 BRI —fix 3 1,357 1,300 1,300 1,300
BwEEK 3 700 MKl 3 900 1,100
i — i 4 1,876 1,800 ERT: —fix 4 1,809 1,800 1,800 1,800
BEEL 4 900 weEEE 4 1,200 1,500
WERAE | — A% - wERoEEs] JERME | —i% | 0.75 508 500 500 500
R GRE K - ERHOIHIRY #EHEIR| 0.75 300 400
k=2 PR R 3 938 900 BRI —fix 3 904 900 900 900
BwEEE 3 450 MKl 3 600 700
F4 — i 4 1,251 1,200 Tt — % 4 1,206 1,200 1,200 1,200
BEEE 4 600 wEEE 4 800 1,000
WERRRE | — A% - wERsoEEsl JERMAE | —i% | 0.75 226 200 200 200
AR GRE K - A DIFNEY ek K| 0.75 100 100
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BOAT %
/ SAY o FEL | 98 s p= wy | x5 P . e ERET] it
LSRR s — | BFERE M 2 6,028 | * 3,200 M 2 3,899 3,400 3,600 3,800
BEEE 2 1,600 | &ML 2 2,300 3,000
FEER S W 2 850 800 M 2 1,056 800 900 1,000
BEEE 2 400 | BekEAlR| 2 600 800
[ShiEe) g0 | 2 4,444 | % 2,800 | —f% 2 2,643 2,600 2,600 2,600
BEEK 2 1,400 | &arEE| 2 1,800 2,200
A 1 370 | * 200 1 220 200 200 200
TER L (427 W 2 12,057 | * 6,400 B 2 15,862 6,800 7,200 7,600 | BrERiG D25
BEEK 2 3,200 | mammEik| 2 4,600 6,100
TEB) S (1) — % 2 6,028 | * 3200 | —f% 2 7,931 3,400 3,600 3,800 | Bk by L [RIAH
BEEK 2 1,600 | &arEk| 2 2,300 3,000
INERES — % 2 850 800 | —f% 2 5,216 800 900 1,000 |FEERS; L FI%E
BEEK 2 400 | BekEAlR| 2 600 800
IR (4xr) o0 | ik 2 18,051 | * 5100 | —f% 2 7,931 6,000 6,900 7,900
BEEK 2 2,550 | maEik| 2 4,300 6,100
R Clm) o0 | ik 2 9,025 | * 2,500 | —f% 2 3,965 2,900 3,400 3,900
BEEK 2 1,250 | &arEk| 2 2,100 3,000
RERE(1/3m) | ¥ | R 2 6,017 | * 1,700 | % 2 2,643 2,000 2,300 2,600
BEEK 2 850 | tekElk| 2 1,400 2,000
RERE(1/4m) | 58600 | R 2 4,512 | * 1,200 | % 2 1,982 1,400 1,600 1,900
BEEK 2 600 | tekEAlk| 2 1,000 1,400
REEE(1/60) | 5¥E0 | R 2 3,008 | * 800 | —f% 2 1,321 900 1,100 1,300
BEEK 2 400 | wekER| 2 700 1,000
IREHE (KA 1[7] 253 200 1[a] 295 200 200 200 |55047 114N — 1 [EI205 ]
N 1[A] 126 100 1[A] 147 100 100 100 | 5471 B4R — 1 EI25
AMEEE (20 | Y | ) 2 5,415 | * 1,600 | —ii% 2 4,430 1,900 2,200 2,600 |/ABEAE(A ) ©1/3
BEEK 2 800 | tekEAlk| 2 1,400 2,000
AMEEE CERE) | SO0 | ik 2 2,707 | * 800 | —fi% 2 2,215 900 1,100 1,300
BEEK 2 400 | wekEAlR| 2 700 1,000
IMEEE i (R A) 1[a] 253 200 1[a] 295 200 200 200 |57 1II4RER — 1 [I28E
UM 1[A] 126 100 1[A] 147 100 100 100 | 5471 B4 — 1 B2
AT —L 00 | 2 6,262 6,000 | —f% 2 6,458 6,000 6,000 6,000
BEEK 2 3000 | memEik| 2 4,000 5,000
B (KA 1 394 | * 250 1 269 250 250 250
UM 1 197 | = 130 1 134 130 130 130
Fo—=Z L— 2 1[A] 400 400 1[A] 392 400 400 400
= NR— 8 — i 1 188 200 | —fi% 2 377 400 400 400
BEEE 1 100 |wemEis| 2 200 300
HonmE — i 1 1,094 1,000 | —f% 1 1,055 1,000 1,000 1,000
BEEK 1 500 | wekEAlk| 1 600 800
HoDHE — 1 1,094 1,000 | —fi% 1 1,055 1,000 1,000 1,000
BEEE] 1 500 | teekEAlR| 1 600 800
ESERERE | (4mE) O | ik 2 12,636 | 3300 | —fi% 2 5,916 4,100 5,000 5,900
BwEEE 2 1,650 |xemEAfkl 2 3,000 4,400
R Cl ) HqEY |~k 2 6,318 | * 1600 | —fi% 2 2,958 2,000 2,400 2,900
BwEEE 2 800 | teékEAlk| 2 1,500 2,200
RERE(1/4i) | 5¥600 | 2 3,159 | 800 | —fi% 2 1,479 1,000 1,200 1,400
BwEEE 2 400 | teekER(R| 2 700 1,000
TR (A 1[8] 253 200 1[A] 295 200 200 200 |5147 114w — 1120
UM 1[A] 126 100 1[A] 147 100 100 100|547 L4 — 1 2050
AMEEE (2 | 50 | R 2 1,805 | * 800 | —fi% 2 1,780 1,000 1,200 1,400 | H A (4if) O 1/4
BwEEE 2 400 | teekER(R| 2 700 1,000
IMEEE RN} 1[a] 253 200 1[a] 295 200 200 200 |H47 1[EI4RER - 1 [EI285
UM 1[A] 126 100 1[A] 147 100 100 100|547 LA — 1 2050
PIRE LN IRE A (4) O | ik 2 12,636 | 3300 | —fi% 2 5,916 4,100 5,000 5,900
BwEEE 2 1,650 |xemEAfkl 2 3,000 4,400
R Cl ) HqEY |~k 2 6,318 | * 1600 | —fi% 2 2,958 2,000 2,400 2,900
BwEEE 2 800 | teekEAMk| 2 1,500 2,200
RERE(1/41) | 00 | ik 2 3,159 | * 800 | —fi% 2 1,479 1,000 1,200 1,400
BwEEE 2 400 | teskERlR| 2 700 1,000
R (A 108 253 200 1[a] 295 200 200 200 |5i47 114N — 1120
UM iG] 126 100 1[a] 147 100 100 100|547 LIRS — 1 2R
AMETEE (20 | Y | R 2 1,805 | * 800 | —fi 2 1,780 1,000 1,200 1,400 | (A7 AE(4im) O 1/4
BwEEE 2 400 | teskERlR| 2 700 1,000
IIMAT = (A G| 253 200 1[a] 295 200 200 200 |5i47 114N — 1120
UM iG] 126 100 1[a] 147 100 100 100|547 LA — 12050
R (421) B]EY | —ik 2 5,415 | * 1,600 | —i% 2 3,557 1,900 2,200 2,600 | L3 EUMEE S ERIAE
BwEEE 2 800 | tekEAMk| 2 1,400 2,000
R Cl ) FOw | 2 2,707 | * 800 | —fix 2 1,778 900 1,100 1,300
BwEEE 2 400 | teskERlR| 2 700 1,000
R (A 108 253 200 1[a] 295 200 200 200 |5i47 114N — 1120
UM iG] 126 100 1[a] 147 100 100 100|547 LIRS — 1 2R
o= — i 1 703 700 | —fix 1 678 600 600 600
BwEEE] 1 1 400 500
B 1 547 1 527 500 500 500
1 1 300 400

66




KA R

B fr & &
/ SAY o FEL | 98 s p= Ay 23 P . e ERET] it
WIESHRER  |[RERE (20 b= =) M 2 2,893 2,800 5 2 2,893 2,800 Stk O B IR I
wREE 2 1,400 [mame| 2 1,400 BRI E I E
B RE CH) b=l 5 2 1,446 1,400 B 2 1,446 1,400 S OO P IR
wREE 2 700 | mame| 2 700 BRI E
REEE(1/4m) | 58600 | iR 2 723 700 | % 2 723 700 5% OO P IR
wREE 2 350 | mames| 2 350 BRI I E
RELE i (kA 1[5l 253 200 1[a] 253 200 s O R AR
"M 1[5 126 100 1[5 126 100 BRI E
JEER S — % 2 850 800 | —fi% 2 850 800 % OB BH A FRTR]
Bk 2 400 | mamis| 2 400 BRI I E
KEniEERE | REE (4m) BweY | 2 12,636 | * 3300 | —f% 2 5,916 4,100 5,000 5,900
BEEK 2 1,650 | maEiR| 2 3,000 4,400
R Clm) o0 | ik 2 6,318 | * 1,600 | —i% 2 2,958 2,000 2,400 2,900
BEEK 2 800 | &Mkl 2 1,500 2,200
REEE(1/4m) | 5860 | R 2 3,159 | * 800 | —fi% 2 1,479 1,000 1,200 1,400
BEEK 2 400 | BaEKl 2 700 1,000
IKERE {:CIN] 1[=] 253 200 1[5 295 200 200 200 [BAT1EI4E R — L[R2 ]
R ORA) 1[A] 126 100 1[A] 147 100 100 100 |54 1 B4R — 1 mI2m5
AIMEEE (42m) | S0 | ik 2 1,805 | * 800 | —fi% 2 1,780 1,000 1,200 1,400 | (A HfiE(4xim) ©1/4
BEEK 2 400 | BaEKl 2 700 1,000
NGNS i (KA 1[a] 253 200 1[a] 295 200 200 200 |57 14N — 121
-GN 1[=] 126 100 1[5 147 100 100 100 |HAT 1EI4RERT— 1E205 ]
HIEY; (421f) BweY | 2 2,707 | * 800 | —fi% 2 1,778 900 1,100 1,300 |k firtiakitish CFii) &4
BEEK 2 400 | BaEKl 2 700 1,000
BB L:CIN] 1[=] 253 200 1[5 295 200 200 200 [BT1EI4E R — L[R2 ]
U A) 1[A] 126 100 1[A] 147 100 100 100 | 5471 B4R — 1 EI2i5
KT — L 00 | 2 6,262 6,000 | —f% 2 6,458 6,000 6,000 6,000
BEEK 2 3000 | &Mkl 2 4,000 5,000
B (KA 1 394 | * 250 1 269 250 250 250
UM 1 197 | = 130 1 134 130 130 130
fo—= P — 2 1[d] 400 400 1[d] 392 400 400 400
D — 1 625 600 | —fi% 1 603 600 600 600
BEEE 1 300 | weEMEKl 1 400 500
% A= — % 1 625 600 | —fi% 1 603 600 600 600
BEEK 1 300 | &Mkl 1 400 500
KRR A IRE A (4i) 00 | 2 2,893 2800 | —f 2 2,877 1,400 1,400 1,400 |x &ribfimic >
BEEK 2 1,400 | &aEE| 2 1,400 1,400
R Cl ) B | ik 2 1,446 1,400 | —& 2 1,438 700 700 700 |k LR oA
BEEK 2 700 | BeEEKl 2 700 700
RERE(1/3) | ¥ | ) 2 900 900 | —fi 2 949 400 400 400 |k LR oA
BEEK 2 450 | Bkl 2 400 400
R (A G| 253 200 1[a] 143 100 100 100 |H&rifiiikic >
UM 1]d] 126 100 1[a] 71 50 50 50 |x & Hitbhizic >
T FEEY | Bk — % 2 6,028 | * 3200 | —fi% 2 3,899 3,400 3,600 3,800
BwEEE 2 1,600 |xsmAk| 2 2,300 3,000
TEB) Y (421) — % 2 12,057 | 5100 | —fi% 2 15,862 5,400 5,700 6,000 | Bk D1, 6f%
BwEEE 2 2,550 | memEik| 2 3,700 4,800
TEB) Y (1) — i 2 6,028 | * 3200 | —fi% 2 15,862 3,400 3,600 3,800 |BrEkiG L A%
BwEEE 2 1,600 |xsmAfk| 2 2,300 3,000
K ARIEEN ek Yy — % 2 6,028 | * 3200 | —fi% 2 3,899 3,400 3,600 3,800
BwEEE 2 1,600 |xsmAk| 2 2,300 3,000
JEBR Y — % 2 850 800 | —fi% 2 1,056 800 900 1,000
BwEEE 2 400 | teekERlR| 2 600 800
i PR 2 R B B | B BRS — i 2 6,028 | * 3200 | —fi% 2 3,899 3,400 3,600 3,800
BwEEE 2 1,600 |xsmAfk| 2 2,300 3,000
i S AR B | REBRAE — i 2 850 800 | —fi% 2 1,056 800 900 1,000
BwEEE 2 400 | teekERlR| 2 600 800
Bl REEY Y |k — i 2 3,014 | * 2500 | —fi% 2 2,660 2,500 2,500 2,600
wEEE 2 1,250 | warEik| 2 1,700 2,100
AR ORAREDS | B — 2 3,014 | * 2500 | —f 2 2,660 2,500 2,500 2,600
wEEE 2 1,250 | sarEifk| 2 1,700 2,100
SEEARAREBY | KR EE (L) — i 2 10,035 10,000 | —fi% 2 10,851 10,000 10,000 10,000
BwEEE 2 5000 | &Mkl 2 6,600 8,300
RIRE SRS (i) — 2 5,017 5000 | —f 2 5,425 5,000 5,000 5,000
wEEE 2 2,500 2 3,300 4,100
DS AR EEERS | REER Y — % 2 850 800 2 1,056 800 900 1,000
wEEE 2 400 2 600 800
TSR T — L |7 — (A 2 640 | * 400 2 495 400 400 400
UM 2 320 | 200 2 247 200 200 200
]| i 1 17,290 | * 15,000 | —ii% 2 30,000 30,000 30,000 30,000
wEEE] 1 7,500 | BkmAkl 2 20,000 25,000
B & AT — 1 | T — L (A 2 640 | * 400 2 495 400 400 400
UM 2 320 | 200 2 247 200 200 200
]| i 1 17,290 | * 15,000 | —i% 2 30,000 30,000 30,000 30,000
BEEE 1 7,500 | &eRmAfk| 2 20,000 25,000
FEHTIRAT — L [iRAK T — L i (KA 1 394 | x 250 1 269 250 250 250
AU 1 197 | = 130 1 134 130 130 130
iR} 2 6,262 6,000 2 6,458 6,000 6,000 6,000
2 3,000 2 4,000 5,000
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BOAT % F
S/ A S L | e | 3B 4= " AN e f . . SE3H]
AT = [iAKT =L iz (A A) 1 394 | 250 1 269 250 250 250
HEORA) 1 197 | 130 1 134 130 130 130
b= =) W 2 6,262 6,000 M 2 6,458 6,000 6,000 6,000
BEEER 2 3,000 | meEik| 2 4,000 5,000
AT —n 3,000 P35 i - 2,500 | * 2,500 - 2,500 2,500 2,500 2,500
1,5000 P fik FH %5 - * 1,250 - 1,250 1,250 1,250 1,250
HRB i (BpER) | PRI A (B 2R) 5 1 3,258 3,200 B 1 2,661 2,600 2,600 2,600
AV ZSENCE IO wEEK] 1 1,600 | &ML 1 2,600 2,600
0.5 1,300 1,300 1,300
PRI GES) | WvImdi GEBY; - 4 —% 1 6,400 6,400 | —fi% 1 5,323 5,200 5,200 5,200 | Bk D265
W) T BEEK 1 3200 |m@mEm| 1 5,200 5,200
0.5 2,600 2,600 2,600
AR i GHEY 8- -5 — % 1 3,200 3200 | —fi% 1 2,661 2,600 2,600 2,600 |5 Bk by L [RAH
BwEEER 1 1,600 | &aEE| 1 2,600 2,600
0.5 1,300 1,300 1,300
BB (rEkin) | FEIIRR R Bk ) —fiE 1 258 200 | —f 1 265 200 200 200
EIRR R/ AR wEEE] 1 100 | &Mk 1 200 200
0.5 100 100 100
PR 245 (/)N i) | TR R i (1B Bhs) — % 1 258 200 | —fx 1 265 200 200 200 | ek L RAH
5) LI w1 100 |wssmEts] 1 200 200
0.5 100 100 100
) . L (4 — MR — ) — % 1 258 200 | —fix 1 265 200 200 200 | ek L RIAH
SO (77— BEEK 1 100 | &Mk 1 200 200
A—/185) FIFE
0.5 100 100 100
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P s T NN
PR A — SR - 274 1 B 1 F LU

84T g E
—_ - IR by | e Bt s | miems | B0 | | doein | doegem
FHEAE (M) |2 (H) B o (1) ()

2efs B NES B | A | ) 22,615 | * 1,800 | —#% 1 551 500
TR G ER AR | LI (ST EAPY) 0 | &R {A 1 551

W | R | im R E) 16,961 | 3100 | —i% 1 551 500
SR ER AR | LI (ST EAPY) 0 |k A 1 551

B SRR | A | i k) 3,768 | % 1,800 | —ii% 1 224 200
TGRS | 1] (SIFITEAPY) 0 | Bk 1 224

Vil — % | 1E (5RERLLP) 5,024 | * 3,100 | —fi% 1 224 200
TGRS | 11m] (SIFTLAPY) 0 &SR 1 224
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